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UGC NET PAPER 2 OCTOBER 11, 2022 SHIFT 1 POLITICAL SCIENCE QUESTION PAPER

Subject : GP_UGCNET_110CT_SH1_S1_A
Question ID:- 1317
Consider the following table which shows the total number of seats in each college in bracket

and the number of students admitted to different streams in a particular year. Based on the
data in the table answer questions 1- 5 :

College
College | College | College | College
Stream w x ¥y z
(500) (500) (1000) | (1000)
Science 100 150 350 300
Art 100 100 300 350
Engineering 50 50 150 150
Medical 150 50 50 100

freferfiaa arfers w faens & o fRefl faem ad o fom & 0 gers #rers 6 @i & 0 den d w2
A% i fafv= werr § wem oF A Genfdd fiaen d o 2

AT & TS & FT 9 E, 1-5 91 I 5

FTeld

FEAS | FIES | FES | FTES
FTEFT"J w X i z

(500) | (500) | (1000) | {1000)
fasma 100 | 150 | 350 300
) 100 | 100 | 300 350
AfaataR | 50 50 150 150
ferferea 150 | 50 50 100

What is the percentage of vacant seats?
(1) 17.66 (2) 15.66
(3) 14,22 (4) 16.67
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e i) i afergreren = 27

(1) 17.66 (2) 15.66
(3) 14.22 (4) 16.67
Options:-

.1, Option ID :- 5265,
« 2, Option ID :- 5266,
. 3, Option ID :- 5267,
. 4, Option ID :- 5268,

Question ID:- 1320

Consider the following table which shows the total number of seats in each college in bracket
and the number of students admitted to different streams in a particular year. Based on the
data in the table answer questions 1- 5 :

College
College | College | College | College
Stream W b4 ¥ Z
(500) (500) (1000) | (1D00)
Science 100 150 350 300
Art 100 100 300 3560
Engineering 50 50 150 150
Medical 150 50 a0 100

fr=fefiaa arfers w farem #61 fonm BRdl fam = & fom e 0 o2 Fere @@ 50 gen d w2
ST s Fafur=y et | wem & 9 fenfdat Framn g 2

Alfer & #AfHel % AW IE E. 1.5 9 I &

FEAS | FTAS | FEF | FTE
T w b. < v Z

(500) | (500) | (1000) | (1000)
faama 100 | 150 | 350 300
Fe] 100 | 100 | 300 350
AfaaitER | 50 50 150 150
ferfepean 150 | 50 50 100

What is the average number of Arts students admitted to each college?
(1) ~ 214 (2) ~212
(3) ~ 215 (4) ~217
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(1) ~214 2y -~212
(3) ~215 4y ~217
Options:-

.1, Option ID :- 5277,
« 2, Option ID :- 5278,
. 3, Option ID :- 5279,
. 4, Option ID :- 5280,

Question ID:- 1316

data in the table answer questions 1- 5 :

College
College | College | College | College
Stream w X ¥ z
(500) (500) (1000) | (100)
Science 100 150 350 300
Art 100 100 300 350
Engineering 50 50 150 150
Medical 150 a0 50 100

1% et fafor=s derm | e o1 a1e fenida Framndond 2

At & #AfeHel % w9y |, 1.5 91 39 4

FAS | FTES | FEE | FER
T w b+ v Z

(500) | (500) | (1000) | (1000)
ERIE 100 | 150 | 330 300
Fell 100 | 100 | 300 350
stgifaER | 50 50 150 150
feqfepray 150 | 50 50 100

In which stream the number of admitted students 1s highest?
(1) Medical (2) Secience

Consider the following table which shows the total number of seats in each college in bracket
and the number of students admitted to different streams in a particular year. Based on the

fr=ferfiaa arfern w e+ e B fTm ad & fao e 0 o #es 6 i@ Fa qen § 0 2

(3) Arts (4) Engineering
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forar Tma T waw &3 a1 faeniea) = g Aty 27

(1)  T=fEFEan (2) T
(3) el (4) sy
Options:-

.1, Option ID :- 5261,
« 2, Option ID :- 5262,
. 3, Option ID :- 5263,
. 4, Option ID :- 5264,

Question ID:- 1318

Consider the following table which shows the total number of seats in each college in bracket
and the number of students admitted to different streams in a particular year. Based on the
data in the table answer questions 1- 5 :

College
College | College | College | College
Stream w X ¥ z
(200) (500} (1000) | (1000)
Science 100 150 350 300
Art 100 100 300 350
Engineering B0 50 150 150
Medical 150 50 a0 100

Frferfiaa arfer @ T % o Bl fasm ad o feo i O e Fea 6 @iz 6 g0 gen 4l g
AR A fatva= dem g wom o4 9re fenfd Famn @ 2

Alfet & #AThei % AOE 9 J. 1.5 F1 37 &

TS | FTES | FEE | FTe
T w X v i

(500) | (500) | (1000) | (1000)
ERIE 100 | 150 | 330 300
el 100 | 100 | 300 350
st | 50 50 150 150
EIET=E] 150 | 50 50 100
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What is the ratio of students admitted to sclence stream and engineering stream?
(1) 9:4 (2) 7:4

s

(3 11:5 (4 9:5

forsma derm oin vt wFm@ O wEw oF T i sE e av

(1) 9:4 (2) 7:4
(3) i1:5 (4y 9:5
Options:-

.1, Option ID :- 5269,
« 2, Option ID :- 5270,
. 3, Option ID :- 5271,
. 4, Option ID :- 5272,

Question ID:- 1319

Consider the following table which shows the total number of seats in each college in bracket
and the number of students admitted to different streams in a particular year. Based on the
data in the table answer questions 1- 5 :

College
College | College | College | College
Stream w X ¥ z
{(500) (500) (1000) | (1D00)
Science 100 150 350 300
Art 100 100 300 3560
Engineering 50 50 150 150
Medical 150 50 50 100

frferfiaa arforen v T = fomd Fredl fasm ad o fero st 0 geass et 6 @i 6 g sen 4 0d 2
A1 A+ ity e | wem o 9 fenfdai Framnd o 2

At & il % w9y |, 1.5 91 39 4

FIAS | TS | FEH | Felsl
WT{I w X ¥ z

(500) | (500) | (1000) | (1000)
ERIE 100 | 150 | 330 300
Fell 100 | 100 | 300 350
wigfER | 50 50 150 150
feffepea 150 | 50 50 100
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What is the percenteage of students admitted to Medical stream among the total number of
admizsions of the college?

(1) 13 (2) 15
(3) 14 (4 16

el o el TeT 8 Tarfarem damg O wam o arel faenfadai = gfvem =27

(1) 13 (2) 15
(3) 14 (4) 16
Options:-

.1, Option ID :- 5273,
« 2, Option ID :- 5274,
. 3, Option ID :- 5275,
. 4, Option ID :- 5276,

Subject : GP_UGCNET_110CT_SH1_S1_B
Question ID:- 1342
Given below are two statements :

Statement I: The intensional meaning consists of the gualities or attributes that the term

denotes.

Statement IT: The extensional meaning consists of the members of the class that the term

denotes.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement II 1s incorrect

(4) Statement I 1s incorrect but Statement II is correct
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4 B wem fau o E
FoH (D) : Ay 92 g fAfde 1 G g @ |
F94 (ID) :  Taega sd dyagm A ol F @ea 7 #

T A o e H, A fan e fawed d 3 g apEad T 1 9 e

(1) =eEIsmOIFIEAE |
(2) FHR AR MEHITAR R |
(8) R IHA 2, oI FeE I e 2 |
(4) = I B, i Fe I aa 2

Options:-

.1, Option ID :- 5365,
« 2, Option ID :- 5366,
. 3, Option ID :- 5367,
. 4, Option ID :- 5368,

Question ID:- 1327

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R).
Assertion (A):  Qualitative research is guided by positivistic epistemology
Reason (R) : The aim of quantitative research is only to test hypothesis.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) is NOT the correct explanation of (4)
(3) (A) 1s correet but (R) 1s not correct

(4) (A) 1s not correct but (R) 1s correct
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4= 2 weE fou o 2 . U #YERH (Assertion (A)) @ ¥9 4 Tefaa B A Rt 34+ w1 (Reason

R) F =9 d

31T (A) : TS ST YeaETd) s 8 fean-fEfm e 2
%AW (R) : U 91T &1 3299 Fael U] &1 ghEm = 2

I Y & e o, Fi= fou e fawedi O B HaE suge I 6 9 i

(1) (A) 31 (R) H1 |7 & 3 (R), (A) ) =&l =0 2
(2) (A 3E R) 2H 74 2, T (R), (A) &t 7 s 44 2
(3) (A w2, wifE (R) 561 47 2
@ (A TF FE 2, S R) A 2
Options:-
.1, Option ID :- 5305,
« 2, Option ID :- 5306,

. 3, Option ID :- 5307,
« 4, Option ID :- 5308,

Question ID:- 1356
Modern Universities were established in India in 1857 at
(1) Calcutta. Madras and Hydrabad
(2) Calcutta, Madras and Bombay
{3 Calcutta, Bombay and Hydrabad

() Calecutta. Banaras and Hydrabad

oA H 9 1857 ° wgfe fqvataenel &1 v 2 7 917
(1)  erehd], HEH 30 2erER

(2)  FeA®A1, UEH 30 A

(3)  herwAl, " S e

(4)  FerEa, FTH HJN R

Options:-

.1, Option ID :- 5421,
« 2, Option ID :- 5422,
. 3, Option ID :- 5423,
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« 4, Option ID :- 5424,

Question ID:- 1354

Matech List I with List IT

TastI

Energy Source
(A) Wind Energy
(B) Thermal Energy
(C)  Hydroelectric Energy

(D)  Photovoltalc energy

@
iy
(1)
(Iv)

List IT

Environmental Impacts
Emission of Green House Gases
Loss of riparian vegetation
Hazardous for birds and bats

Production of toxic wastes

Choose the correct answer from the options given below :

(1 (A)-IV), (B)-(IID), (C)-(II), (D)-(T)
2y (A)-IV), (B)-aD, (Cy«(D), (D)-(IIT)
(3) (A1), B)-(D), (C)-AV), (D)-(11)
(4) (A)-(1ID). B)-(D). (C)-(II). (D)-AV)

1.1 % A1y -1 &) faerm Fifao .

eI

Ex (0
(A) "= FHa
(B) anfE =
(€) et Fa

(D) SFEEEEY Sl

A fed o fasreti 1 & @l 330 1 99 Hifaw

(1)  (AIV). (B)-I). (C)-T), D)-D
(2) (A)-(IV). (B)-(ID). (C)~(T). (D)-(I1I)
(3 (A)-(III), (B)-(I), (C)-(IV). (D)-(ID)
(4) (A)-(I1D), (B)-(D). (C)-(ID), (D)-(IV)

Options:-

.1, Option ID :- 5413,
. 2, Option ID :- 5414,
. 3, Option ID :- 5415,
. 4, Option ID :- 5416,

(I

(IT)

1
Tl T
#1238 T &1 3o

F& farm afad) 1 &

(L) e s =mmesi & fau e

(IV) fammam s1ofel @1 e

Question ID:- 1330
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(L
(3

(A)
(B)
(C)
(D)
(E)

(1)

(3)

Which among the following are examples of personal documents, for the purpose of sources

of data?

(A) Diaries

(B)  Mass media outputs
(C) Letters

(D)  Autobiographies

(E) Company documents

Choose the most appropriate answer from the optiocns given below :

(A), (B). (C) only {2) (A (C). (E) only
(A), (C). (D) only (4) (B). (C). (D) only

Freferfiaa o | %19 g = 4] & 3299 F fem safdnm v o 3gmm &7

oAt (zrad)

spdTfen g (e
RE|

ATFFAT

4 fau o fored ° & B 37 A A Aif

Fde (A), (B). (C) (2) Fae (A). (C). (E)
@ (A). (C). (D) (4) #de B), (C). (D)

Options:-

.1, Option ID :- 5317,
« 2, Option ID :- 5318,
. 3, Option ID :- 5319,
. 4, Option ID :- 5320,

Question ID:- 1334
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As per the New London Group. the five modes of communication in sequence are :
(A)  Linguistic

(B)  Visual

(C) Aural

(D) Gestural

(E) Spatial

Choose the correct answer from the options given below :

(L (A), (B), (C)., (D), (E) (2) (B). (C), (D). (E). (A)

(3) (C). (D). (E). (A). (B) 4) (D). (E). (A). (B). (C)

T e TR & AET FEITE Y 4 HU F O 5 E

(A) |
B o
(©) ==

(D) Hehrreyeh

Jra o faseg) O A |l 399 1 =39 il

(I (A B (C). (D), (E) (2)  (B), (C). (D), (E), (A)
(3) (C). (D). (E). (A). (B) 4) (D). (E). (A). (B). (C)
Options:-

.1, Option ID :- 5333,
. 2, Option ID :- 5334,
. 3, Option ID :- 5335,
« 4, Option ID :- 5336,

Question ID:- 1326

What is the full form of MLA' as a referencing style?

(D Machine Language Adaptation (2) Modern Language Association
(3) Management Language Authority (4) Mainstream Language Assoclation




www.prep;

p.in
Hed Sl (Fbfam) & =0 0 MLA & g1 9 @91 27

(1)  ured das vdey (2) ured ds vEfareE
(3)  Beede dEs meid (4) UFEAY G wETUIE
Options:-

.1, Option ID :- 5301,
« 2, Option ID :- 5302,
. 3, Option ID :- 5303,
. 4, Option ID :- 5304,

Question ID:- 1339

Which of the following has the highest value?
(1) 157 2y e

(3) 29 (4)y 35

Frfetfaa 4 & faen o sy 27

(1) 152 (2) 6+
(3) 27 (4) 35
Options:-

.1, Option ID :- 5353,
. 2, Option ID :- 5354,
. 3, Option ID :- 5355,
. 4, Option ID :- 5356,

Question ID:- 1349
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Given below are two statements :

Statement I: Piracy refers to attempts to gain information from otherwise undisclosed

areas.
Statement IT : Hacking refers to the unauthorized duplication of computer software,

In the hight of the above statements. choose the corrrect answer from the options given

below:

(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement IT are false
(3) Statement I is true but Statement IT 1= falze

(4 Statement I 1= false but Statement I 1s true

At e fau e g
HF (D R AR ST R A A R W T 2
F24 (ID) : Rl w1 AT Fege it 4 A A (S ) #7

T 99 o AT H, A9 3 e 4 3 w6 3w o =94 it

(1) g TN T aFE] & 2 |
()  FREIAT A 35488 |
(3) FoA [H™ 2, ¢ FeH [ HEA 2 |

(4) FRIAEED, A FH IEA 2 |

Options:-

.1, Option ID :- 5393,
« 2, Option ID :- 5394,
. 3, Option ID :- 5395,
. 4, Option ID :- 5396,

Question ID:- 1332
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Which of the following are barriers to acceptance of communicated messages?
(A) Body language with positive vibes

(B)  Attitude of the listener

(C) Values of the decoder

I Status clash

(E) EKnowledge stimuli

Choose the correct answer from the options given below :
(1) (A). (B). (C) only (2) (B). (C), (D) only

(3) (C). (D). (E) only (4)  (A). (D). (E) only

Freferfiaa U A & Aufve deen &) =i 4 s A7
(A)  HEFErTEgE A Jre T g

(B)  arar =1 #agia

(C)  faueras & g4

(D)  ufm e

(E) 31438

dr faw e e 9 | a2 3 = At

(1) %4 (A). (B). (O) (2) #A (B), (C). (D)
(3)  #F=« (C). (D), (B) @ %9 (A), (D). (E)
Options:-

.1, Option ID :- 5325,
« 2, Option ID :- 5326,
. 3, Option ID :- 5327,
. 4, Option ID :- 5328,

Question ID:- 1331

In terms of communication, most enline platforms of teaching and learning are :

(1) Synchronous (2) Asvnchronous

(3 (One-to-none (4) Tied to specific timeframe
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w1 gt | e 3 wfery & SR s e F

(1)  =Eelferk (2) FrHEFIfcr
(3) U H F2 98] dF (4) Tafme goaEm 4 a4
Options:-

.1, Option ID :- 5321,
« 2, Option ID :- 5322,
. 3, Option ID :- 5323,
. 4, Option ID :- 5324,

Question ID:- 1351

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as

Reason (R) :

Asgertion (A):  Geothermal fluids are rich in salts and other contaminants such as
hydrogen sulphide (H:S) and oxides of nitrogen (NOg)

Reasons (R) : They are re-injected into ground rather than being dumped to river or

ponds.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Bath (A) and (R) are correct but (R) 13 NOT the correct explanation of (A)
(3) (A) is correct but (R) is not correct

(4) (A) 15 not correct but (R) 1s correct
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49 21w Tau o 2 2 v w9 (Assertion A) & w9 4 fafiEd 2 o1 200 35% #1701 (Reason R) &0 4
HiReE (A) H-ATT dd 90 30 21geiead d@ewEe (HeS) 9 e & #9Es (NOg) S 33
e § T e £ |

&l (R) : 4 Ffedl 1 Al 4 3 wE w g 0 gE- s @ fee a d

FT H4A o+ AT H, = # o e O 8 weE 29w I o =9 i

(1) (A3 ®) ZETEE 2 53w ®), (A) #1597 srEn |
(2)  (A) 3 (R) FETEE 2 S (R), (A) a9 saren 14 2|
(3) (AT R)FA T

(49 () wA 2 <A R®) 5 )

Options:-

.1, Option ID :- 5401,
« 2, Option ID :- 5402,
. 3, Option ID :- 5403,
. 4, Option ID :- 5404,

Question ID:- 1337

A clock is set right at 5 A M. The clock loses 16 minutes in 24 hours. What will be the true
time when the clock indicates 10 P.M. on 4% day?

(1) 11 ANM. (2) 11P.M
(3) 9 P.M. (4) 10P.ML

ush gdl Hl UA: 5 Fa W HH He foF W 2 24 99 4 9@ #6116 oz i wif w2 we el 9
faq 7ify 10 =5 = w9z feard 2. 4 9 @ 0 2om

(1) Tae 11949 @ 7119
(3) Tt 9ad (4) nf3 10
Options:-

.1, Option ID :- 5345,
« 2, Option ID :- 5346,
. 3, Option ID :- 5347,
. 4, Option ID :- 5348,

Question ID:- 1328
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Given below are two statements :

Statement I : In present time, researchers prefer to write research papers over

writing a monograph.

Statement IT :  Monographs and books are not included in the data base of research.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement 11 are correct

(2 Both Statement I and Statement II are incorrect
(3) Statement I is correct but Statement II is incorrect
{4y Statement I is incorrect but Statement IT is correct

Fre &1 e fon o #

& I: oAU "y o siasan 9EEmE fengd &1 s i a9 ferg gde S B

Fed I 99 % 2@ &9 O s sl g gftfaa =47 2)
ITIF G & s 0, A fou e fasmedi § & de8 30y 3T @1 =953 difa

(1)  @&%A I 30 MaHE 981 2
@)  #A IsiR I EH e 2
(3)  FUH IEA 2, Al Fe I 2

(4) &% 1A 2, cifed &y I 54 2

Options:-

.1, Option ID :- 5309,
. 2, Option ID :- 5310,
. 3, Option ID :- 5311,
. 4, Option ID :- 5312,

Question ID:- 1321
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Match List I with List IT :

ListI
(A) Mind Maps

(B) Gamifications
(C) Fhpped Classrooms

(D) ICT based teaching method

List IT
(I} Allow student to explore the lesson

bhefore the teacher describes
(IT) Virtual Reality
(ITI) Use of self-learning toals

(IV) Learning through using guizzes

Choose the correct answer from the options given below :

(1) (A)-(I). (B)-(IL), (C)-(III). (D)-(IV)
(2) (4)-(IV). (B)-1). (O)-I1D. (D)-(ID)
(3) (A)-III). (B)-(IV). (C)-(D). (D)-(I)
4D (A)-(1D, (B)-(11D). (C)-(IV). (D)-(1)

g1 % w2 eI fyem $ifm .
#4011

(A T4 @

(B) i
(C) i (freme) =an

(D) ICT FeEnfd forew gz2f

4 feu mu famei O H |8 I3 &1 =94 Fifao

(1) (A)(D), (B)-(II). (C)-IID). (D)-(IV)
(2)  (A)-AV). (B)-@). (C)-AID. (D)-1D)
(8) (A, B)AIV). (C)-D). (D)D)
4 (A-ID, (B)-(IID). (C)-aV). (D)-(D)

Options:-

.1, Option ID :- 5281,
« 2, Option ID :- 5282,
. 3, Option ID :- 5283,
. 4, Option ID :- 5284,

{111

(D fows f sren & gl faeft 1 o0e 5
sr=ur <l 3afd &

(I) weTam arEfaed

(D) ¥=-foreq1 39T <1 940

(V) wodreat] (feat) & 2wam i =g

Question ID:- 1347
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Which two of the following tasks are carried out by all operating systems?
(A) Repairing mouse

(B) Data logging

(C) Managing system resources including memeory

D) Transfering data to printer

(E) Drawing image

Choose the correct answer from the options given below :
(1) (A) and (D) only (2) (B)and (C) only
(3) (C) and (D) only (4) (C)and (E) only

et 04 #i9-3 21 %0 v smafan fomem g & s 27
(A)  HI3A 6l gooe

(B) =2t

(©)  iuf) afee fwen garsi 1 wEta e

D) =0 ) T e i A

(BE) 30 &M

=1 fem T fersred | | o 3 ) T FIfau

(1) %4 (A) #1 (D) (2) e (B) 31 (C)
(3)  Fa« (C) #n (D) (4) Fa (C) 3l (E)
Options:-

.1, Option ID :- 5385,
. 2, Option ID :- 5386,
. 3, Option ID :- 5387,
. 4, Option ID :- 5388,

’

Question ID:- 1352

Which one among the following is net a unit of measurement of surface ozone?
(1) Miecrogram per meter cube (2) Nanogram per meter cube
(3) Dobson unit (4) Parts per million

frreyferfiad O =04 gerd) a1 % a1 e 97 27

(1)  HiEH gfd 59 i () Fm gt w1 de
(3) A EEE 4) s ufa fuferas (26 @)
Options:-

.1, Option ID :- 5405,
« 2, Option ID :- 5406,
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« 3, Option ID :- 5407,
. 4, Option ID :- 5408,

Question ID:- 1324

Put the following 1n correct sequence in the light of process of Evaluation systems.

(A) Development and use of measurement instruments.

(B) Interpretation of Data.

() Setting objectives and crmterion.

(D)  Formulation of judgements and taking of appropriate action.
Choose the correct answer from the options given below :

(1) (A). (B). (C). (D) (2) (B (C). A). D)
(3) (C). (A). (B). (D) (4) (AL (C). (B). (D)

Yo S| i wisen % el o ety # o d w
(A) = ST ) fesre s s
B)  aed i =uwE
© FEv] AT HE (TEsieE ) e = |
D) e =1 im0 stEE FeEEE e |

=t fau o Forsredi 0 | well e o = o

(1) (A (B (€). D) (2) (B). (C). (A). (D)
(3) (C). (A). (B), (D) (4) (A (C). (B). (D)
Options:-

.1, Option ID :- 5293,
« 2, Option ID :- 5294,
. 3, Option ID :- 5295,
« 4, Option ID :- 5296,

Question ID:- 1325

In which of the learner-centered methods students are first presented with challenges?

(1) Self learning (2) Aective learning
(3) Inductive teaching and learnming (4) Cooperative learning

Frerferfies 1§ 4 frg foendl $iem fafal O Frendia % qum gl wqa & oad 27

(1)  =-Afm (2) =fFEa wfamy
(8) Ay foem s i (4) HEATTEE Hfey
Options:-

.1, Option ID :- 5297,
« 2, Option ID :- 5298,
. 3, Option ID :- 5299,
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T. 4, Option ID :- 5300,

Question ID:- 1333
Given below are two statements :

Statement I: Western concepts focus on wholeness and unity of communication.

Statement IT: Non-Western communication concepts have the strong central idea

of Individualizm.

In the light of the above statements. choose the correct answer from the options given below:

(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement II are false
(6)) Statement I 1s true but Statement IT 1s false

(4) Statement I 1s false but Statement IT 1s true

4 g1 e g

FA () :  TEE Ao Jgoy ) quidn SR U 97 A FiEa e |
FuA (I1) ;T —roared qugv Sfrsron ] § safFaans =1 yee F473 9@ 8da 2 |
YA A o AT O, S fou o faesed) © 4w 3w A i

(1) FwAIsmIzATEAE |

(2) FH I3 I AEI 956 & |

(3) FEAIdA2 el Fga I smAaz |

(4) FEIxuAs, dFAFRITEE |

Options:-

.1, Option ID :- 5329,
. 2, Option ID :- 5330,
. 3, Option ID :- 5331,
. 4, Option ID :- 5332,
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(1)

(2)

(3)

(4)

(1)

(3)

(4)

Options:-

.1, Option ID :- 5377,
« 2, Option ID :- 5378,
. 3, Option ID :- 5379,
« 4, Option ID :- 5380,

PQuestion ID:- 1345

Given below are two statements :

Statement I: According to Nvava philosophy an argument does not proceed on the issues

that are well established.

Statement IT: According to Nyayva philosophy an argument can proceed only on those issues

that are completely and absclutely unknown.

In the light of the above statements, choose the most appropriate answer from the options

given below :

Both Statement I and Statement I are correct

Both Statement I and Statement IT are incorrect

Statement I 1s correct but Statement II 1s incorrect

Statement I 1s incorrect but Statement II 1s correct

Al &1 e few o 2

wod (T): =1 29(A & sian i famai o q s =38 el 2

oA (1) :  +4T8 F204 & AR 5 I8 A1 9 AT @9 e 2 51 . o FRdem. sEma e |

IR FAE & st A, e fae O A e IR I Se i

FyA TN EHIEA 2 |

#[d 1 #0101 2F1 7TeAd & |

Fo THE 2, ook %9 T4 2 |

9 TITeld 2, o e TTHE 2|

Question ID:- 1335
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Match List I with List IT :

(&)
(B)

(C)

(D

List T

Elements of Human Communication
People

Ideas

Noise

Language

List I
Representational Description
Semanticism

(D

(I} Lead to modification of Physical

environment
(III) Information processors

(IV) Expression of creativity

Choose the correct answer from the options given below :

(1)
(2)
(3)
(4)

(A)-(ID), (B)-(III). (C)-(IV). (D)-(D
(A)-(I), (B)-(IL). (C)-(IV). (D)-(IID)
(A)-(IV), (B)-), (C)-(IIL). (D)-(ID)
(A)-(IID), (B)-(IV), (C)-(D), (D)D)

11 = #ne =110 1 fuerH fifse

o1
(A) @n
(B) fa=m

(C) 9 (97EH)

(D)

Jra 74 o Fme d @ w39 =g i

(1

(2

(3
(4

) (A)-(IT). (B)-(I1I). (C)-(IV), (D)-(D)
) (A)-(D). (B)-(ID). (C)-aV), (D)-(III)
) (A)-(IV), (B)-@). (C)-(I1I), (D)-(II)
) (A, (B)-AV). (O)-(ID. (D)-(1)

Options:-
.1, Option ID :- 5337,
« 2, Option ID :- 5338,

. 3, Option ID :- 5339,
« 4, Option ID :- 5340,

110

uferErreds 4l
(O sedfEEae
(D) 244 Wi aiE & s 20 2
(L) H=E1 % JETT

(IV) T=-Teqd i sifaeafm

Question ID:- 1360
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Which of the following were important aspects of Ninth Five Year plans (1997-2002)
pertaining to higher education in India.

(A) Improvement in quality and systemic efficiency

(B) Conferring autonomous status by UGC on selected colleges
(C) Enecouraging research in higher education

(D) Vocationalisation of higher education

(E) Improvement of quality and relevnace of technical education
Choose the most appropriate answer from the options given below :
(1) (B), (C), (D). and (E) only

(2) (A), (B). (D), and (E) only

(3) (A)and (E) only

{(4) (C)and (D) only

urd 8 el geadia aeE (1997-2002) § 79 fuan § wwafam geeal wee Fefafga 4 3 &3 9 20

(A) ET 3R AE il gl § HYR

B) 3. gr gfe gerfemer @ @ £ wedl vgH =
(©) 3= foren | sy = grewTEs 24

(D) 3= e 1 saEEiad T

(E) TIVTE T HUT 30 @R T sl iR

99 feu o famredl O | |8 3w &1 = Fif .

(1) =aa (B). (C). (D) 3 (E)

(2) Fde (A), (B). (D) 31 (E)

(8) ad (A) 31 (E)

(4) e (C) 31 (D)

Options:-

.1, Option ID :- 5437,
« 2, Option ID :- 5438,
. 3, Option ID :- 5439,
. 4, Option ID :- 5440,

Question ID:- 1348
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The functional components of a digital computer are :

(A) Input Device

(B) Printer

(C) Central Processing Unit
(D) Memorv

(E) Output Device

Choose the correct answer from the options given below :

(1) (A), (B), (C), (D) only (2) (A, (D), (E) only
(3) (A (C). (D). (E) only (4) (C). (D). (E) only
fefirest dgzt = Frafens o2 2
(A)  zge fzams
B o=
(C) e wafan gie
(D)  Huf
(E)  oAr3eye fzarsm
I fEu o fameT O | 1E I = A
()  #a (A). (B). (C). (D) (2) Fad (A). (D). (E)
(3)  F&E (A), (C), (D), (E) (4) F= (C), (D). (E)
Options:-

.1, Option ID :- 5389,
« 2, Option ID :- 5390,
. 3, Option ID :- 5391,
. 4, Option ID :- 5392,

Question ID:- 1353
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Match List I with List IT :

ListI ListIT

Water Pollutant Tvpe Example
(A) Toxic Pollutant (I} Chlorine
(B) Nontoxic Pollutant (IT) Protozoa
(C) Macroscopic Pollutant (IIT) Benzene
(D)  Pathogenic Pollutant {IV) Food cans

Choose the correct answer from the options given below :
(1) (A)-(IID). (B)-(T). (C)-(IT). (D)-(IV)
(2) (A)-(III). (B)-(I). (C)-(IV), (D)-(ID)

(3) (AMID). (B)-(D). (C)-IV), (D)-(I1I)
(4) (A)-(D). (B)-(D, (C)-dII), (D)-(IV)

=T % T gL T i

Hefl-1 HeH1-11
EEPCLE AR et TR
(A) TR T (D w0
B) - gy (II) SrErEsn
(C) ¥ WgTF MI) =5
(D) IR UG (IV) ieH & fesa (2 F)

dr e o fasrea © 3 o 30 A = e
(1) (A)-(I1D). (B)-(D. (C)-(ID. (D)-(IV)
(2) (A)-(III). (B)-(I). (C)-(IV). (D)«(ID
(3) (A)-(ID). (B)-{T). (C)-(IV). (D)-(IIT)
(4) (A)-(T). (B)-(IT). (C)-(I1I), (D}-{IV)

Options:-

.1, Option ID :- 5409,
. 2, Option ID :- 5410,
. 3, Option ID :- 5411,
. 4, Option ID :- 5412,

Question ID:- 1344
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‘If Sneha tampered with the examination script. then she is guilty of a crime. Sneha did not
tamper with the examination script. Therefore sneha is not guilty of a crime’. Which fallacy

is committed in the above argument?

(1) Fallacy of affirming the antecedent
(2) Fallacy of composition

(3) Fallacy of denying the anfecedent
(41 Fallacy of affirming the consequent
‘gfe =@ 3 e fafy & 93 gz 61 2, @ 92 sgug w4 6 gl 2 =a 3 e fafu 3 gzee 4
1| 3A: A AT FA gl FE AL
IWIE G 4 A H dhan 27

(1) Al % ufasiia w65 # aden

(2)  HATH %1 deher

(3)  Hadl 1 FEEA F dham

(@) sradl & ufasnia & @ aedhary

Options:-

.1, Option ID :- 5373,
. 2, Option ID :- 5374,
. 3, Option ID :- 5375,
. 4, Option ID :- 5376,

Question ID:- 1359
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Match List T with List IT

(&)
(B)
(C)
(D)

ListI
Values
Integrity
Team work
Discipline

Positivity

@
(In
(I1I)

ListIT

Meaning

Having a good attitude
Dedication and hardwark
Do the right thing

Helping and cooperating with each
other

Choose the correct answer from the options given below :

(1)
(2)
(3)
4)

(A)-(IIT), (B)-(IV), (C)-AD), (D)-(I)
(A)-(IID), (B)-(II), (C)-(IV), (D)-(T)
(A-(IV). (B)-(I). (C)-(11I). (D)-(IL)
(A)-(ITD), (B)-(IV), (C)-(). (D)-(IT)

gt 1 Ay G110 @ fgerm it -

(A)
(B)
(©)

(D)

dra feu o fawedi 8/ 981 391 @1 =94 hifa

Hefi-1
LG
e~
A7 HH

HhH Al

(1) {(A)-(IIT). (B)-(IV), (C)-(ID). (D)-(D)

(2) {A)-(III). (B)-(1I). (C)-(IV). (D)-(T)

(3) (A)-(IV). (B)-(I), (C)-(I1I). (D)-(1IT)

(4) (A)-(IIL). (B)-(IV). (C)-T}). (D)-(II)
Options:-

.1, Option ID :- 5433,
« 2, Option ID :- 5434,
. 3, Option ID :- 5435,
. 4, Option ID :- 5436,

(D
({11
(I1D)

(IV)

-0

HY

sr=ef] wfugh v
T 3 EE iy
el T &

WO R 3 HE S

Question ID:- 1322
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Match List T with List II :
ListI
(A) Formative Evaluation

(B) Placement Evaluation
(C) Summative Evaluation
(D) Diagnostic Evaluation

(1) (A)-(I). (B)-(IL). (C)-(I1I). (D)-(IV)
(2) (A)-(III). (B)-(I). (C)-(II). (DI(IV)
(3) (A)-(IL), (B)-(T}. (C)-(IV). (D)-(I1D)
4) (A)-(IV), (B)-ID). (C)-(I). (D)-(III)

uHl-1 % Wiy g1 & faem il

(A)  TEAEE gediad
(B) A -HedTEA

(C) HFHAATES YoaiFA
(D) AT i

(1) (A)-). (B)-(II). (C)-dID), (D)-(IV)
(2) (A)-(III). (B)-(T), (C)-(I1). (D)-(IV)
(3) (A)-(II). (B)-(I), (C)-(IV), (D)-(III)
(4) (A)-(IV). (B)-(IT}. (C)-(T). (D)-(III)

Options:-

.1, Option ID :- 5285,
« 2, Option ID :- 5286,
. 3, Option ID :- 5287,
« 4, Option ID :- 5288,

Fre fau o fasmei 4 | W I 1 THA Rif

(D

(I

(III)

(IV)

List IT
The purpose is to check the aptitude of
a candidate for the course or subject.
Entrance exam can be conducted for
the same.

It prowvides the student with feedback
regarding his/her sueccess or failure in
attaining the instructional objectives.
This evaluation provides an
explanation for the possible causes for
problems in learning.

It is a method of judging the worth of a
programme at the end of programme
activities.

Choose the correct answer from the options given below :

g1
(D)

uEgEH wAua fawa & fau spgedfi 6
s &1 T SO SHE 329 2 | 3H) &
fera wers witen sl o w2

(0 =7 faenefi % AT 39 F1 U™

4 Hwel SHdl 3EEA 24 % Ha H ufigfe
UEH Al F |

(IIT) =7 geia- sfem & guer & fou

Hurfad wrvi < SaEE YEE R

(IV) = wrEwy niafaid & gumE o S99 &

ure & &1 4 fofg @@ 6 gzl 21

Question ID:- 1341
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“The secretaries have asked us to provide lounge areas where they can spend their coffee
breaks. This request will have to be refused. If we give them lounge areas, next they will ask
for spas and swimming pools, Then it will be yoga centres and fitness gyms. Expenditures for
these facilities will drive us into bankruptey”. Which fallacy 1s committed in the above

argument?
(1) Strawman (2) Hasty generalization
(P Red herring (4) Slippery slope

“afal 3 wE - we2E F F ui o 2 st 2 ) w0h s a9 wuy SIdia 99 a99 | 39 O
spfTeRT 1 2 | afe 7 39 fam-wa 3 5 8, a1 on 3 en sin feEfan ge i wm e | g #E s
fpzm ol 1 win &1 smofl | 3 gl s o oad Fa-g2a ey fgafern & i’ | s w8 #E-a
Aaam fFnsn a2 7

(1) geren (=21 8A) (@) wfa= wray=fiE
(3 = (@) TR send (e h i)
Options:-

.1, Option ID :- 5361,
. 2, Option ID :- 5362,
« 3, Option ID :- 5363,
. 4, Option ID :- 5364,

Question ID:- 1346

What is the full form of the acronyvm CAD and CAM?

(1) Control Aided Data and Computer Aided Man

(2) Computer Aided Design and Computer Aided Manufacturing
(3) Computer Aided Design and Computer Aided Maintenance
(5] Computer Aided Design and Computer Aided Man

wfeaofi 1 v €1 (CAD) =iw i v wn (CAM) % 1 & == 87
(1) el uge =re i e veg i

(2)  wrger vz feene ol sger vee iqtadia

(3)  Fge vze e sin g vie e

(4)  Fvg vEs fears sin gz vz i

Options:-

.1, Option ID :- 5381,
« 2, Option ID :- 5382,
. 3, Option ID :- 5383,
. 4, Option ID :- 5384,

Question ID:- 1336
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If 7461 1= coded a= 135. then what will be the code for 683937
(1) 151 (2) 161

(3) 179 (4) 152

A7¢ 7461 %1 135 % ®1 H Fesrg 71 S 291 A1 6893 71 %2 F41 &FN?

(1) 151 (2) 161
(3) 179 4) 152
Options:-

.1, Option ID :- 5341,
« 2, Option ID :- 5342,
. 3, Option ID :- 5343,
«4 O tionID :- 5344

Question ID:- 1350

Given below are two statements :

Statement I: SWAYAM is Study Web of Active Learning for Young Aspiring Mind.

Statement IT : SWAYAM is Source With Active Young Aspirational Mindfullness.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect

(3) Statement I is correct but Statement II 1s Incorrect

(4) Statement I 1s incorrect but Statement II 1s correct
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9 &1 e fqu m #
FA (D) EEH (SWAYAM) %1 90 &9 2 w2 99 17 vfFea e w1 9 veygio aEE |
&2 (I) : Ty (SWAYAM) ®1 9of &9 2 |nd fag vfdeg 20 ufofyqa gEawerH |

3 F G o AT H, A T2 o e 4 6 e 30 9 9 Fian

(1) FEIARIIEIAIEAR |
@ wHIsmIOEHITEA R |
(3) Fu THE 2, oA w91 T 2
(4)  FUq LTTerd 2, A wem ITEE R

Options:-

.1, Option ID :- 5397,
« 2, Option ID :- 5398,
. 3, Option ID :- 5399,
. 4, Option ID :- 5400,

Question ID:- 1323

Which of the following is/are the feature/s of Reflective level of teaching?
(A) Students learn by understanding the facts and information.

(B) Teaching 1s nothing but learning the subject by rote.

(C) Development of problem-solving ability.

(D)  The student’s original thinking and creative abilities.

(E) The pupils are kept in strict dizciplines and eramming 1s insisted.

Choose the correct answer from the options given below :
(1) (B) and (C) only (2) (D) and (E) only

(3 (A) and (B) only (4) (C) and (D) only
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Fresferfiaa o o= @ e 3 faod sae ) fagman 27

(A) Tl aedl 3R gaH1 # JUEE &R HEd 2 |

(B) v 1 12A & aw A % sifafea fem ge 58 2 )
(C)  wEn-agEH FE T  fae )

(D) Taendi i difers am= sin T Anen |

(E) faeefl 2 somea | v wmd 2 st wosim i s 2

A1 faw oo faem 4 | &1 39 &1 = Fifa

(1) @4 (B) 311 (C) (2) %ad (D) 31 (E)
(3)  Ee (A) 310 (B) (4) @ad (C) 3 (D)
Options:-

.1, Option ID :- 5289,
. 2, Option ID :- 5290,
. 3, Option ID :- 5291,
. 4, Option ID :- 5292,

Question ID:- 1358

Which among the following are related to the quality of research articles?
(A) number of research articles

(B) impact factor

(O citation index

(D) frequency of their publication

(E) h-index

Choose the correct answer from the options given below :
(1) (A). (B). (C) Only

(2) (B). (C). (D). (E) only

(3 (B). (C). (E) only

(4) (A), (B). (C). (E) only
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fr=forfaa § % &3 9 w9 ordl &1 rEdl Heafad 8¢
(A) 9y el 1 FEn

B) UHE-FTH

(C)  Igmv-qa#iH

(D)  39F GHWHE Fl GEETA]

(E)  UH-FeFE

49 oo faeedl O 8 wé 3w & =9ae Fif

(1) =& (A), (B), (C)

(2) %4 (B). (C). (D). (E)

(3)  «ae (B). (C). (B)

(4)  @FEd (A), B). (0. (E)

Options:-

.1, Option ID :- 5429,
« 2, Option ID :- 5430,
. 3, Option ID :- 5431,
. 4, Option ID :- 5432,

Question ID:- 1343

Which of the following is true regarding Nvava view of invariable conecomitance?
(A) It is determined by inductive process of reasoning which corresponds to Mill's method
of agreement and method of difference.

(B) It i1s based on concomitance of affirmatives that wherever a product exists the

material cause thereof exists.

() It is based on the concomitance of negatives that wherever a material cause does not

exist the product thereof does not exist.

(D) Nyava view of inductive process does not correspond to Mill's method of agreement

and method of difference.

Choose the correct answer from the options given below :

(1) (A). (C) and (D) only (2) (B).(C)and (D) only

(3)  (B)and (C) only (4) (A), (B) and (C) only
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fAeferfiaa 0 | 13-4 faa sl & = g & qaa 9 J0g 27

(A) 72 ok o) sraeTens wiEEn @ Ruii Fien 2 o e 1 sraa wonet s sl wire & ey #id

=4
(B) 7 sfeaar=e & A 91 A @ - st #= oft wfoorm @ sifvee #wn 2, 98 s difas
1 i stiEee 2 2

(C) = FFWFHEFl & dread v snafa 2 - sl wdl of it sron = sifees 56 @, 991 38 afom

&1 sifeqeg A A R |
(D) TR Wi 1 = g e 4 s womet s s yorel & g T8 2

et fom o e 0 A g 3w = Fife .

(1) a4 (A). (C) 3 (D) (2) =¥ (B). (C) 31 (D)
(3)  #4e (B) 3R (O) (4) F4 (A). (B) 3% (C)
Options:-

.1, Option ID :- 5369,
« 2, Option ID :- 5370,
« 3, Option ID :- 5371,
. 4, Option ID :- 5372,

Question ID:- 1329

Given below are two statements :

Statement I: Field notes are important for prompting the ethnographer’s memory and

form much of the data for subsequent analysis.

Statement IT: Research metheds such as qualitative interviewing are flexible, and are less
disruptive of the work and personal lives of both researchers and research

participants.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement IT are incorrect
(3) Statement I 1s correct but Statement IT is Incorrect

(4) Statement I is incorrect but Statement IT is correct




www.prepp.in

4 @ FuE faom 2

oM () : ?H'nl TroyforT "a—m GRELEE G ::Eﬁ-[ Ea -q:j_ﬂff" Lo | Wﬁéﬁﬁq"ﬁﬂ?ﬁ”r}r? E* | 'ﬂiﬁfﬁfﬂﬁﬁﬁm?
fe =ea = safrfer wm B 2
F94 (I1) : VT AvATesrr Sl 91 Tgiaal Ju-m 2 8 =i siusdis] vd sie gfaurfen 267 &+

1 Aafera sfiaa & fom #a faesdi e 2

I FAA AT 8, = v 7o faeredi § A gah 3uge I a1 99 il

(1) #FWHIswOsHIad s |
(2) FHEIARMEEITAAR |
(3)  weE 199 2, wifF e ILTem 2 |

(4) A ITEd 2, Al FE TEA 2

Options:-

.1, Option ID :- 5313,
« 2, Option ID :- 5314,
. 3, Option ID :- 5315,
. 4, Option ID :- 5316,

Question ID:- 1338

Given below are two statements :

Statement I: If you know the length of any one side of a right angled triangle. the area of
the triangle can be found.

Statement IT : If you know the length of two sides of a right angled triangle, the length of
the third side can be found.

In the light of the above statements, choose the most appropriate answer from the options

given below :

(1) Both Statement I and Statement IT are correct

(2) Both Statement [ and Statement Il are incorrect

(3) Statement I is correct but Statement IT is incorrect

(1) Statement T is incorrect but Statement II is correct
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A FrFeE fqo e E
FoH (D) ;A3 s i Auem By = s e 6 a3 2, 9 =99 #0 aEwe e @ a2 |

FeA (D) ;. afz simrl foredt e fgs 6 20 gensil 6 d=d o 21, ) dimd g i e B
qeFell 7 |

YA F9 % e o, A o e 4 9w 3w = i
(1) FEIFAMIEAEIEIE)

(2) o TN I 2H1 Terd 2 |

(3) e IOd 2, ol FeE I Ted 2

(4  FE IR, difFA e Ea 2

Options:-

.1, Option ID :- 5349,
« 2, Option ID :- 5350,
. 3, Option ID :- 5351,
. 4, Option ID :- 5352,

Question ID:- 1355

Match Last I with List IT

Tist I List IT
Hazardous Waste Explanation

(A) F-list (I Hazardous wastes from specific
industrial processes

B Klhst (I} Discarded chemicals exceeding
25 kilograms per month

(C)y P-list (ITI) Hazardous wastes from non-specific
sources

(D)  U-hst (IV) Discarded chemicals exceeding

1 kilogram per month

Choose the correct answer from the options given below :

(1) (A, BHID). (C)-(IV). (D)-1D)
(2)  (A)-0D), (B)-(1D), (C)-M), (D)-(IV)
(3)  (A)-@V), B)-(ID. (C)-(I1I), (D)@
4 (A)-D. B-IV). (C)-ID. (D)-II)
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=11 % w1 =111 1 e it

I I

T ST ST
(A) wE-HH @ Tafre sfrenfer ufFnsi @ o @9 A
B) FH-g= D 25 e ufd ae 3 wfies s wEa
(©) -y (A1) r-fafsre i & wa Jwar mfe
O g-gH AV) 1 Feretmme ufa ure @ sifie smfEe mee

44 fe2 o fased] 9 A el 390 =1 =99 Fifau
(1) (A)-(IID), (B)-(I), (C)-(IV), (D)-(ID)
(2) (A)-(IT). (B)-(IIL). (C)-(I). (D)-(IV)
(3) (A)-(IV), (B)-(ID). (C)-(IIT), (D)-(T)
(4) (A)-I), (B)-(IV), (C)-(ID), (D)-(IIT)

Options:-

.1, Option ID :- 5417,
« 2, Option ID :- 5418,
. 3, Option ID :- 5419,
. 4, Option ID :- 5420,

U

Question ID:- 1340

What will be the diameter of a circle having area equal to that of a square of side 2.0 m?
(1) ~1.256m (2) ~2.925Tm
(3) ~0.88 m (49 ~2718m

U 2.0 m A & P & ATEA b HAW EAEA & Uk g9 &) 54 =91 E 7

(1) ~1.256 m (2) ~225Tm
(3) ~0.88 m 4) ~2.718m
Options:-

.1, Option ID :- 5357,
« 2, Option ID :- 5358,
. 3, Option ID :- 5359,
. 4, Option ID :- 5360,

Question ID:- 1357
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Which among the following is not related to the ranking of World Universities?

(1) Times higher ranking (2) QS ranking
(3) Madrd ranking (4) Shanghai ranking

frferfan 1 | =4 fava F favaferern 6 T 8 dafaa 18 87

@ TR @ T i
@ st (@) i
Options:-

.1, Option ID :- 5425,
« 2, Option ID :- 5426,
. 3, Option ID :- 5427,
« 4, Option ID :- 5428,

Subject : GP_UGCNET_110CT_SH1_S1_C

Question ID:- 1365

Read the passage and answer questions from 46 to 50,

Reflected evaluation demands reasonming regarding relative lmportance. not just counting.
This is an exercise in which we are constantly engaged. To that general understanding has to
be added the possible importance of public reasoning as a way of extending the reach and
reliability of valuations and making them more robust. The necessity of serutiny and eritical
assessment iz not just a demand for self-centred evaluation by secluded individuals. but a
pointer to the fruitfulness of public discussion and of interactive public reasoning : social
evaluations may be starved of useful information and good arguments if they are entirely
based on separated and sequestered cogitation. Public discuszion and deliberation can lead
to a better understanding of the role. reach and significane of particular functionings and
their combinations. To illustrate. public discussion of gender-based inequalities in India has
helped to bring out, in recent years, the importance of certain freedoms that did not receive
adequate acknowledgement earlier. Examples include the freedom to depart from fixed and
time honoured family roles that limit the social and economic opportunities of women, and
also from a social value system that is more geared to rocognising men's deprivation than
women's. These traditional antecedents of zender inequality in well-established. male-
dominated societies demand not only individual concern hut also Informative public
discussion and often enough, agitation. The connection between public reasoming and the
choice and weighting of capabilities in social assessment is important to emphasize. It also
points to the absurdity of the argument that is sometimes presented. which claims that the
capability approach would be usable and operational. only if it comes with a set of given
weights on the distinct functionings in some fixed list of relevant capabilities.
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T h] Ye 3 99 46 H 50 | IW 4 -

fgaml yearaa 3 e e & afess qfeas gae | weElae a6 F wi w2 ) 98 vk v @E 2
Toad #q Had =04 T84 2 | gl 6l 159 AR fvasHEa &1 faEa @ & fd sim 3= slas qem
99 & folu 39 Wm du" 4 94 dd & Avifad Yee & wifad s 2| e s Sl
A il ATATIHA 7 el U H a8 & T8 SAfaad] gR1 AT -higd gedhd il 5l 8 dfcd a8
Tl 31 IREINE 99 qdh | ATHerEddl il gEE ol 2 | glg dnries geaiea fu=-fa= sl vem e
i TR 1 B e el e et e i B o e e e e o W el e e o i B R
forasii 3 39% ST 61 gies, 959 W 9Ee i dEa Jug T A w2 ) 3eE & fom uma 4
fem-smeria fawaasi &1 @ 291 4 79 % 991 8 F9 U Eaame #) T9eE 04 0 gaee foef 2
{72 weet watn w6 faad ot | sgmon § . fea sl et i giewms 8§ s g
1 TadFe wiegfera 2 o1 afeean & amilses 8 s sEmh @ im0 odl @ i om st e
g | ol e g2 @l wadad atgfem 2 Ged saae g9 wh 2 F g gfzens & gen O el &
FEA1 F HAUE TR WEA FA A | HE, PEEE A5 0 e e & 4 qndfes gEed A
e dafae fam & 9fcs srme 59 =99 §1 9 s g s=ider 6 8 5f @ 2

arpifare e § 5 deh 301 GudA1sl & 994 U & &1 & T84 W @ oA WavEE 2 | g8 @afi-
FHR WA 39 a1 sl %1 i qiea # 2 e g7 ge T 2 6 e gfewm o
Fard 3 R @ e 9 vag guman # el fem ol 0 o w ae fafie el 6 e o
U & HIY WA E |

The major take-away from the passage is:

(1) Promotion of a capability system

(2) Separate soclal assessment of men and women

(3) Recognition of the traditional value svstem

(4) Absurdity of a capability approach with a fixed list of weights

T T g e 2

(1) U 29 &3 i GIeHTE

(2 i s afgenst @ - amfas sneem
(8) TR ey Tgid Rl Hr

(4) WAl @1 e g 9 S g @) e

Options:-

.1, Option ID :- 5457,
« 2, Option ID :- 5458,
. 3, Option ID :- 5459,
« 4, Option ID :- 5460,

’

Question ID:- 1362
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Read the passage and answer questions from 46 to 50,

Reflected evaluation demands reasonming regarding relative lmportance. not just counting.
This is an exercise in which we are constantly engaged. To that general understanding has to
be added the possible importance of public reasoning as a way of extending the reach and
rehiability of valuations and making them more robust. The necessity of serutiny and critical
assessment 1s not just a demand for self-centred evaluation by secluded individuals. but a
pointer to the fruitfulness of public discussion and of interactive public reasoning : social
evaluations may be starved of useful information and good arguments if they are entirely
based on separated and sequestered cogitation. Public discus=ion and deliberation can lead
to a better understanding of the role. reach and significane of particular functionings and
their combinations. To illustrate. public discussion of gender-bazed inequalities in India has
helped to bring cut. in recent years. the importance of certain freedoms that did not receive
adequate acknowledgement earlier. Examples include the freedom to depart from fixed and
time honoured family roles that limit the social and economic opportunities of women. and
also firom a social value system that is more geared to rocognising men's deprivation than
women's. These traditional antecedents of gender inequality in well-established. male-
dominated societies demand not only individual concern but also informative public
discussion and often enough. agitation. The connection between public reasoming and the
choice and weighting of capabilities in soclal assessment is important to emphasize. It also
points to the absurdity of the argument that is sometimes presented. which claims that the
capability approach would be usable and operational. only if 1t comez with a set of given
welghts on the distinct functionings in some fixed list of relevant capabilities,

TRITH ] Ug 301 9T 46 H 50 IW & -

feramqul yegreRs 4 Fae oAl §) afes anile wee B el @ 6 oo 9 2 ) 9 v T w2
ol 7 waa =pa 124 2| gegiEAl F ude S favandia @ fasa we % oo s = afas g
A9 % fom 79 WM A9 H 99 A & AWIfad geed & "iwfed sen 2en) gdien sin s
HiFedd @1 AEHHd 4 hdel UHd 0 a8 & T8 SATGdd gi1 AT —chiga Yodied &l i & dfch 98 54
g9l 3 TRl 9 deh | aTHEEEdl 1 gae ol 2| glfe dnrfas gedtes fum-fas sii vk faae
EER 1T e 1 = e e o e e (o | L e O = i IR
form 31 3 9% oreET 1 gy, g8 3 a6 9E Jeg U9 # aedl @ ) 35w # A weE o
fe1- s faansi &1 @ =9 A 26 % a9 O F9 W saaEaasl w1 e 0 8 g ol 2
Forst Taet T wliRta T8 faerdt off | S 4 = Frem o feamra e gftest 3 e @2
& ¥ageaa Hitgfer 2 S afeas & At @ ol s & | & odl 2 3 38w g
g & i st 7 ) e w2 ferd wEe %9 2 s ar sfeenst 9 gen d pi E
a9l 1 AUH W UEH E A | HEATYA, TEIREE HEIA 8 o SREEE 4 4 qraes qEad |
e Jafde faa $ 9fes Je F9 991 61 9 30 9 SFeeE 1 9 wE )

qifTE HTEe § 5F 7 30 AuAH] & 999 g WA & b9 & qaY W g9 o HEvEE B | 98 aafi-
FUR WA 39 ah | e w1 W yfea w2 e 22 g fen w2 amanges giesm ad
saEE 3 R 2 E 9w g4 dauasn 6 e fee gl O s 9 fafie el @ e o
YT & H1Y AT 2 |

A robust and critical evaluation will result in :

(1) Interactive public discussions (2) Self-centred assessment

(3) Availability of useful information (4) Sequestered cogitation

HuTE AR AHATES GeaiEA 3 =1 E

(1) e st == (2) s -HfEn s
(3)  FyEnf Al £ Igere (4) UFR A
Options:-

.1, Option ID :- 5445,
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« 2, Option ID :- 5446,
. 3, Option ID :- 5447,
« 4, Option ID :- 5448,

’

Question ID:- 1364

Read the passage and answer questions from 46 to 50.

Reflected evaluation demands reasoning regarding relative importance. not just counting.
This 15 an exercise in which we are constantly engaged. To that general understanding has to
be added the possible importance of public reasoning as a way of extending the reach and
rehiability of valuations and making them more robust. The necessity of serutiny and eritical
assessment 1s not just a demand for self-cenired evaluation by secluded individuals, but a
pointer to the fruitfulness of public discussion and of interactive public reasoning : social
evaluations may be starved of useful information and good arguments if they are entirely
based on separated and sequestered cogiiation. Public discussion and deliberation can lead
to a better understanding of the role. reach and significane of particular functiomings and
their combinations. To illustrate. public discussion of gender-based inequalities in India has
helped to bring out, in recent years, the importance of certain freedoms that did not receive
adequate acknowledgement earlier. Examples include the freedom to depart from fixed and
time honoured family roles that limit the social and economic opportunities of women. and
also firom a social value system that is more geared to rocognising men's deprivation than
women's. These traditional antecedents of gender inequality in well-established. male-
dominated societies demand not only individual concern but also informative public
discussion and often enough, agitation. The connection between public reasoning and the

choice and weighting of capabilities in social assessment 1s important to emphasize. It also

points to the absurdity of the argument that is sometimes presented. which claims that the
capability approach would be usable and operational, only if 1t comes with a set of given

weights on the distinct functionings in some fixed list of relevant capabilities,

TRITH ] Ug 301 99 46 H 50 F IF &

feraml e 9 e e & afes aniies gae O gefum w4 oain FH 2 ) 3R o v w2
e 20 Had =FA T8d 7 | gedTEAl &l 9EE R avasEEa 6 faEa # 6 fon s 3R sifes e
FI % fou 79 3 gum O 9 ad & Gwfaa use #1 ufdifed won fom mehen s e
HiFedd 1 AEHHA 4 ddel UHA 0 a8 & T8 SAfdTT gH A —chiga Yedid &I i & dfck 98 59
g9l 311 qrEife 91 dd Sl aHgrEd F gas i 2| gfe yfas gegres = -fa= s v faaA
R 1o e e (o e e e o o B e b = B o W 1 e e o el B e
frmati 3it 39 g 6 gfue), v 3l uzes &) awda guy G #) gl 2 | aEo % fen wpd 8
fer1- s faansd &1 @ 99l 4 2 & a9 O F9 ) sEaEas w1 e 0 d g o 2
foest waet vty weftnfa 44 faerdt off | ggreo 4 24 Frag s Faegorfaa i gftes 3 sem a2
o1 rgaga wferferd 2 o wfzean & dwfae g anfds wawi &1 Hifua @ odi # i 5 wias gy
agfd # off sem w2 i e wfefem 2 S s mm‘iﬁfaaaﬁanfm:ﬂaﬂqﬁﬂngmm
a9l 1 AUH W UEH E A | HEATYA, TRIREE HEIA 8 o SREEE 6 4 qraies qEad |
ee Jafdden a6 9fes Jge F9 991 61 9 50 9 FeeE f o 90 % )

qTfae wTEeT 8 5 76 37 daAsl & 994 9 WA F " & JEy WA 1 A9 B 98 w5l
FUR WA 39 ah | e w1 W yfea w2 e 22 g fen w2 amanges giesm ad
=R A TR 2 E 9w gdg dauasi 6 el fee a4 o s 9 fafie sl @ feeom
YT & H1Y AT 2 |
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Gender inequality 1n traditional societies demands ;
(A) Individual discourses only

(B) Public discussions

(C) Limitation on opportunities

(D)  Agmtation based on public resoning

Choose the correct option :

(1) (A) and (B) only (2

—

(B) and (C) only
(3) (B) and (D) only (4

e

(C) and (D) only

TRt ®ETS H o s e i s 27
(A) e saferd F=i

B) FHFHl

(C) a7 i

(D) o4 ek W AT SAEed

ae faFe = -

1) FAE (A) 3 (B) @) 49 (B) ¥/ (©)

(3) ¥ (B) W (D) @ F (©) M (D)
Options:-

.1, Option ID :- 5453,
« 2, Option ID :- 5454,
. 3, Option ID :- 5455,
. 4, Option ID :- 5456,

Question ID:- 1363
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Read the passage and answer questions from 46 to 50,

Reflected evaluation demands reasonming regarding relative lmportance. not just counting.
This is an exercise in which we are constantly engaged. To that general understanding has to
be added the possible importance of public reasoning as a way of extending the reach and
rehiability of valuations and making them more robust. The necessity of serutiny and critical
assessment 1s not just a demand for self-centred evaluation by secluded individuals. but a
pointer to the fruitfulness of public discussion and of interactive public reasoning : social
evaluations may be starved of useful information and good arguments if they are entirely
based on separated and sequestered cogitation. Public discus=ion and deliberation can lead
to a better understanding of the role. reach and significane of particular functionings and
their combinations. To illustrate. public discussion of gender-bazed inequalities in India has
helped to bring cut. in recent years. the importance of certain freedoms that did not receive
adequate acknowledgement earlier. Examples include the freedom to depart from fixed and
time honoured family roles that limit the social and economic opportunities of women. and
also firom a social value system that is more geared to rocognising men's deprivation than
women's. These traditional antecedents of gender inequality in well-established. male-
dominated societies demand not only individual concern but also informative public
discussion and often enough. agitation. The connection between public reasoming and the
choice and weighting of capabilities in soclal assessment is important to emphasize. It also
points to the absurdity of the argument that is sometimes presented. which claims that the
capability approach would be usable and operational. only if 1t comez with a set of given
welghts on the distinct functionings in some fixed list of relevant capabilities,

TETH %] 9 31 999 46 T 50 F1 IW 2 -

feraml yeara 4 Fae i ) afew e vee B el a6 9w w2 ) 9 v v w2
ol 7 waa =pa 124 2| gegiEAl F ude S favandia @ fasa we % oo s = afas g
A9 % fom 79 WM A9 H 99 A & AWIfad geed & "iwfed sen 2en) gdien sin s
HiFeAd 1 AEHHAl 4 hdel UHd 0 a8 & T8 SATdddl gHl AT —chiga Yodid &l Hif & dfcsh 98 54
g9l 3 TRl 9 deh | aTHEEEdl 1 gae ol 2| glfe dnrfas gedtes fum-fas sii vk faae
EER 1T e 1 = e e o e e (o | L e O = i IR
farmanl 3 9% FEraEl 1 9iys, 9Ee 3 e FI 9 Jag 9 8 aadl 21 IarEm & o upEe 4
fe1- s faansi &1 @ =9 A 26 % a9 O F9 W saaEaasl w1 e 0 8 g ol 2
Forst Taet T wliRta T8 faerdt off | S 4 = Frem o feamra e gftest 3 e @2
& ¥ageaa Hitgfer 2 S afeas & At @ ol s & | & odl 2 3 38w g
g & i st 7 ) e w2 ferd wEe %9 2 s ar sfeenst 9 gen d pi E
a9l 1 AUH W UEH E A | HEATYA, TEIREE HEIA 8 o SREEE 4 4 qraes qEad |
qrfa sfTae § 5F 75 31 aAIsl & 999 9 YA F 19 & g6y W A o A6V 2 | U8 adfi-
FUR WA 39 ah | e w1 W yfea w2 e 22 g fen w2 amanges giesm ad
=R A TR 2 E 9w gdg dauasi 6 el fee a4 o s 9 fafie sl @ feeom
YT & H1Y AT 2 |

The public discussion on gender inegualities makes us support :

(1) Time honoured family roles
(2) Restrictive social roles
(3) Deprivation of men in society

(4) Reforms in the present social value system
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s

fem TEaEATST W A4 J9 J 2y TR JdE 96 9T 2 7

(1) Tep et i

(2 aueEl Al g

(3)  HHTA H [ & &4

(4)  adur Ao e gl § gew
Options:-

.1, Option ID :- 5449,
« 2, Option ID :- 5450,
. 3, Option ID :- 5451,
. 4, Option ID :- 5452,

’

Question ID:- 1361

Read the passage and answer questions from 46 to 50,

Reflected evaluation demands reasoning regarding relative importance. not just counting.
This 1s an exercise in which we are constantly engaged. To that general understanding has to
be added the possible importance of public reasoning as a way of extending the reach and
rehiability of valuations and making them more robust. The necessity of serutiny and critical
assessment 1s not just a demand for self-centred evaluation by secluded individuals, but a
pointer to the fruitfulness of public discussion and of interactive public reasoning : social
evaluations may be starved of useful information and good arguments if they are entirely
hased on separated and sequestered cogitation. Public discussion and deliberation can lead
to a hetter understanding of the role. reach and significane of particular functionings and
their combinations. To illustrate. public discussion of gender-baszed inequalities in India has
helped to bring out, in recent years, the importance of certain freedoms that did not receive
adequate acknowledgement earlier. Examples include the freedom to depart from fixed and
time honoured family roles that limit the social and economic opportunities of women. and
also from a social value system that is more geared to rocognising men's deprivation than
women's. These traditional antecedents of zender ineguality in well-established. male-
dominated societies demand not only individual concern but also informative public
discussion and often enough, agitation. The connection between public reasoning and the
choice and weighting of capabilities in social assessment is important to emphasize. It also
points to the absurdity of the argument that is sometimes presented. which claims that the
capability approach would be usable and operational. only if it comes with a set of given
welghts on the distinct functionings in some fixed list of relevant capabilities,




" et ge 31 99 46 § 50 % IF 4 :

feramol yegraa 3 e o ) afes Aifas gem | Adlan @ @ g wE 2 92 v v w2
Toad #q Had =04 T8 2 | JediEAl 6l 59 AR [vasHEd &1 faEa @ & fEe s 3= slas qes
99 & folu 39 Wm du" 4 94 dd & Avifad Yee & wifad s 2| e s Sl
A il ATATIHA 7 el U H a8 & T8 SAfaad] gR1 AT -higd gedhd il 5l 8 dfcd a8
Tl 31 IREINE 99 qdh | ATHerEddl il gEE ol 2 | glg dnries geaiea fu=-fa= sl vem e
i TR 1 B e el e et e i B o e e e e o W el e e o i B R
frmail 3 393 daTal 1 gy, 9 3 9Ee F FE wug T E Jadl 2 ) 3AE F fen upe o
fem-smarira fawaasi 61 @ == 8 BF % 99l 4 9 U s s Taen e 0 e fgef 2
{72 weet watn w6 faad ot | sgmon § . fea sl et i giewms 8§ s g
& ¥geFa wiegfed # S gfeas & drfas 8 e e & Hieg # odl # R 8 Heias 9o
ggfd § ol sAem g2q 6l e wioyfed 2 G a9 o9 v 2 fe ar afeensi & gen O e &
FEA1 F HAUE TR WEA FA A | HE, PEEE A5 0 e e & 4 qndfes gEed A
e dafaden T 4 afes sue 99 9=] &1 0 3 U sEgeA 9 gim wE 2 )

arpifare e § 5 deh 301 GudA1sl & 994 U & &1 & T84 W @ oA WavEE 2 | g8 @afi-
FHR WA 39 a1 sl %1 i qiea # 2 e g7 ge T 2 6 e gfewm o
Fard 3 R @ e 9 vag guman # el fem ol 0 o w ae fafie el 6 e o
U & HIY WA E |

Reflective evaluation takes into account :

(1) Subjective perception of public issues

(2) Mere counting of socletal developments

(3) General understanding and public reasoning

(4) Extensive arguments on inequalities

i geTe foraen s vam 27

(1) w9 # fawafg T

(2)  TuTA-Ha T R aEe e
(3) M HYH W A T

(4)  sEuEd s W e T

Options:-

.1, Option ID :- 5441,
« 2, Option ID :- 5442,
. 3, Option ID :- 5443,
. 4, Option ID :- 5444,

’

Subject : 2_SH1_PARTA_S1

Question ID:- 883
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Which of the following 1s correctly matched

(A) Civil liabality of Nuclear Damages Aet - 2010
{B) India — US ten vear frame work Agreement for Defence Co-operation - 2015
(C) Defence Technology and Trade Initiative - 2020

(I Basic Exchange Co-operations Agreement - 2019

Choose the most appropriate ansiwer from the options given below :

fetfaas 3 & 5 79w ° gaie -
(A)  wHWEE HE-gH EEe s9 AaEEE-2010

(B) 787 HEAW w1 UWA-STHH SHAEE SO Aagia-2015
(C) w8 TR ST ST Yaei- 2020

(D) =Es ANAE-T5H (TFEEH) 9ar SEE-2019
Hr= foo 7o fa=ai A 1 999 S9gF I 5 99 A

Options:-
,Aand BOnly #a= AR B
Option ID :- 3529,
. Band COnly 9= B3t C
Option ID :- 3530,
BandDOnly a5 B =7 D
Option ID :- 3531,
Aand D Only =as A 37 D ,

Option ID :- 3532,
Band D Only 3@ B s D

’

1

1

Question ID:- 910

Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reazon R,

Assertion (A):  “Until Philosophers are kings and princes of the world have the spirit and
powers of Philosophy, cities will never have rest from their evils.

Reasons (R) : The republic aimed at the representation of human life in a state perfected

by justice and governed according to the 1dea of zood,

In the light of the above statements. choose the most appropriate answer from the options

given below :
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d9 &1 T TE T E ;U AT (Assertion (A)) * =9 T [@0Es & T 9% ¥ (Reasons (R))

FETH

HTFAT (A) : e T TE AT A S T T AR A S S A TE AR o T
T I S H G A R A A

FT (R) : 1 1753 1§ frafses F1 Seeg ot 9fel 20 S e S gAY

% TaaW W anaiE e 7 WA T S
I FUA F A O, A9 5 W S § 8 5 39 S A 99 A

Options:-

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

Option ID :- 3637,
Both (A) and (R) are correct but (R) 1z NOT the correct explanation of (4)

(A) 3 (R) =/ H7 2, =ik (R), (A) i o5 =ameq 9491 2

Option ID :- 3638,

’

, L (A) WH 2, =it (R) 591 771 2
. [A) 1z correct but (R) 1= not correct

Option ID :- 3639,
(A) is not correct but (R) is correet (A) =5 771 7, ofi# (R) 55 7
Option ID :- 3640,

Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

’

(A) 317 (R) =/ o121 & 311 (R), (A) =i Ta1 =m=m &

Question ID:- 865

What 1= Government 2.07

Options:-
 Its NDAinits I term % O ST T 1 580 FEF 2|
Option ID :- 3457,

It refers to Government policies that aim to harness interactive Internet tools to
create an open source computing platform.

THFT A WAFE F A | 7 w3599 A 9 B wEEE g W F e 3
TP $232 3TN (A1) IR e A
Option ID :- 3458,
It vefers to Metaverse Virtual Reality world =571 Hay 52@=s == Fufed] o035 (49 F2nd 579 ) = 2|
Option ID :- 3459,

It refers to the Government of Nations emerged after IT World War

’

1

I7 g favagg = =% ST 9l i TR J GEiad 2

Option ID :- 3460,
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It refers to Government policies that aim to harness interactive Internet tools to
create an open source computing platform.

SER AT TORT Al | 7 T 355 AT A FE wEw F A A F 0 s

TR 32092 TR () =1 ST A

Question ID:- 833
When was the Hezal's book "Philosophy of Right’ published?

Arer 7 g5 TReATarhl A s Fea wiE v i 7

Options:-
1820
Option ID :- 3329,
1821
Option ID :- 3330,
| 27'
Option ID :- 3331,
. 1837
Option ID :- 3332,
1837

o0

Question ID:- 879

Which of the following iz correctly matched.

(A) Cold War - Bipolar

(B) Berlin Criziz - 1955

() Cuban Missile Crisis - 1962
(D) Marshal Plan - Japan

Choose the carrect answer from the options given below :
Frifafizn & 3 i wdl o & e 3

(&) i\ 35 - feudm

(B)  =oF @Fe - 1955

(C)  ogen HEEA T2 - 1962

(D)  ®EE T () AT

I Tev 70 TaEed 3§ W) I 5 =99 i
Options:-

_AandDOnly FAFAFD
Option ID :- 3513,

B and D Only WB&iﬁTD,
Option ID :- 3514,
. Aand COnly #99A#FC
Option ID :- 3515,
. CandD Only a5 C 2 D
Option ID :- 3516, '

1

’
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Aand C Only 3 A3 C

Question ID:- 901
Arrange the following conventings on rights in Chronological order.

(A) The International Covenant on Civil and Political Rights.
(B) The Convention on the Elimination of All forms of Diserimination Against Women.

(C) The American Convention on Human Rights.

(D) The Universal Declaration of Human Rights,

Choose the correct answer from the options given below :

Fefefas Atawm @adt sfvam 1 FemaEan =afead R

(1)  Arie A6 TEHiTaE AT T S TEEE

(2)  wEenE % fEens 9waE ® Tl =E w w9 W A
(3)  AEEITERR W SHIER AHEEE

(4)  FHEIESER F1 AEETEE 32|

= Tau 0 e | @ HE 30 H =94 A
Options:-
ABCD
Option ID :- 3601,
DACB

Option ID :- 3602,
C.D.B. A
Option ID :- 3603,
B.AD. C
Option ID :- 3604,
G DB A

Question ID:- 908
Arrange the following thinkers in chronologic order of their birth year
{A) Chester Barnard
(B) DMLP. Follet
(C) Henr Favol

(D) Dwight Waldo

Choose the correct answer from the options given below :
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Tr=lelis Ta=mehl 51 395 59 = % FH & A9EE A i

e

(A) == gAE
(B) vl TR

(C) = e

(D)  gmEE @wE

S B i faged O O o =5 F 99q e
Options:-

. (B). (C), (D). (A)
Option ID :- 3629,

Option ID :- 3630,
(C). (D), (B). (A)

’

Option ID :- 3631,
. (A (B (T). (D)

Option ID :- 3632,
(C). (B (A). (I

1

Question ID:- 846

Who has coined the Word ‘Soft Powers'
Hi T 0 e § 1 e A

Options:-

. Hans J. Morgenthau 23 3. g/ars
Option ID :- 3381,

. Jozeph 5. Nye HHEE TH, A
Option ID :- 3382,

. Robert Jervis  sj5# 550
Option ID :- 3383, ,
Ann Tickner  f&FH

Option ID :- 3384, '

Joseph S. Nye H% ug, 4

’

’

Question ID:- 841

Who among the following coined the term 'ecology’ in 18667

s 3 e 39 1366 § MRS 9% HEE

Options:-
Ernst Heackel 37 25

)

Option ID :- 3361,
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F. Riggs ©F. WTH )
Option ID :- 3362,

R. A. Dahl 3L 5% }
Option ID :- 3363,

Houghton Miffin  #[=3 T

Option ID :- 3364,
R. A Dahl #E.E. 5f%

1

Question ID:- 847

‘Open Door’ Policy was associated with

AT S Uife (ge gw Hita) =it 8 9 e getem @

Options:-
, Mikhail Gorbachev
Option ID :- 3385,
Ho Chi Minh 71+ fo=
Option ID :- 3386,
Schwarzes =5
Option ID :- 3387,
Deng Xiaoping 2 Smayamm
Option ID :- 3388,
Mikhail Gorbachey [@Es TEEE

Question ID:- 832

In which of the following books of ‘Polities’ Aristotle justifies slavery

e i e e | 8 EE S A el e 2 27

Options:-
. Book -1 ¥&-1 )
Option ID :- 3325,
. Book -4 FF-4 ]
Option ID :- 3326,
. Book-6 E_ﬁr‘_f"
Option ID :- 3327,
. Book-7 %7
Option ID :- 3328,
Book -4 FF-4

1

1

Question ID:- 874
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Tvpes of policies proposed by Theodore J. Lowi
(A)  Diztitbutive, Redistributive,

(B) Regulatory, Constituent,

() Substantive. Procedural

(D) Distributive, Substantive

(E) Constituent. Procedural

Choose the correct answer from the options given below :

orarem &, = gm vy i v e E
&) Toww, wEEE

(B) TEmww, Tuew

(C) Hifers, uiEATH

(D) T, "=

(E) TgZ®, WEAarE

i foo o et § @ o 3 = = i

Options:-
AandBOnly &mm A 5B

Option ID :- 3493,
. Band C Only el B 3t C
Option ID :- 3494,
_ CandD Only ¥ C 3D
Option ID :- 3495,
., Dand E Only #F9 D 9 E

Option ID :- 3496,
AandBOnly #mm AxB

’

1

1

Question ID:- 911

Given below are two statements :

Statement I . EKarl Marx agreed with Hegel that history unfolded itself according to a
dialectical plan. But according to Marx the ideas were the result of

material conditions.
Statement IT . Dialectical matemalism believes in the inseparability of matter and

motion.

In the light of the above statements. choose the moest gppropriate answer from the options

given below ;
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e a7 e fon R

FaA L I G9E A § HEAd 9 TF SAe galt® q0AA F STET A9 SH TS FAdl | T

HIF F AT Tagn 9ita Tt # oo 9)
Fd I0:  GEiea Wlasas e va i i SuTheEa | hvaw e v

YT U AR, A9 50 T fae 8 9 weE 39 39 6 999 A

Options:-

.Both Statement I and Statement II are correct F99 1 30 II 5/ #8l &
Option ID :- 3641, '

. Both Statement I and Statement IT are incorrect =99 [ #7 [I 9] 799 =
Option ID :- 3642,

Option ID :- 3643,
Statement I is incorrect but Statement 11 is correct F2H [ 7= 2, =4 HdA 117 2

Option ID :- 3644,

Statement I is correct but Statement IT is incorrect sum [ o7 2. =ifF9 %29 I e =

Question ID:- 904
Arrange the following according to the chronological orders.

(A) Lahore Declaration
(BE) Tashkent Agreement
(C) Indo-US Civil Nuclear Co-operation Agreement

(D)  Indo-Soviet Treaty of Peace, Friendship and Cooperations.
Choose the correct answer from the options given below :
(A)  =TER g

(B)  #@mrERE ooEiE

(C)  rA-saie e =1fFm asam o
(D) oA, T =7 WA ST SEa—aiEEs w9y
4= fou 0 fFEeT B O TE S W 9 Fiee

Options:-
. D .CE A

Option ID :- 3613,
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.n B.D.AC
Option ID :- 3'614,
.ACBD
Option ID :- 3615,
. DA B C ,

Option ID :- 3616,
B.D.AC

Question ID:- 906
Arrange 1n order:

The Right to Freedom of Religion as enshrined in the Constitution of India.

(A) Freedom to manage relizious affairs

(B) Freedom as to pavment of taxes for promotion of any particular religion.

(C) Freedom of conscience and free profession. practice and propogation of religion.

(D) Freedom as to attendance at religious instruction or religious worship in certain

educational institutions.
Choose the correct answer from the options given below :

FH § S i -

T F Gla9H T 910 =T & AR F E9 § Taeied FRnl F FEEEan SFad fim
(A)  GTEF HEE % TEEE S |

(B) Tl 1 % % Wau wg F0 B YA =

(C) =8 F1 Ja1 i o =EEE, ASE T F =

(D) TF SEAioTR S IR AR A 9 YU B 3 v e
Hi9 fou T faheat 0 o =81 3 F7 =9 Airan :

Options:-

Option ID :- ?:621,
B.ADC
Option ID :- 3'622,
. ABCD
Option ID :- 3623,
.B.ACD

Option ID :- 3624,
C,A B.D

Question ID:- 834

Kautilya's theory of Rajamandala belongs to
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FZe T TANEA WEA AEErEd g 2

Options:-
, Social structure AT FT=
Option ID :- 3333,
, The economy 3 =Ts
Option ID :- 3334,

Foreign policy and inter-state velation [g=3i Hile w8 S 1199 5549
Option ID :- 3335,
. Structure of Dharma o =hT T
Option ID :- 3336,

Foreign policy and inter-state velation fazo Hifs va s=—7r=9 g9

)

Question ID:- 877

Which of the following characterises Rational choice Institutionalism, as a new institution
approach 1n comparative polities?

(A) It explains interest based motivations of political actors

(B} It explains resolution of collective action dilemma

(C) It explainz cultural construction of interest and Institutions

(D) It follows a deductive approach

Choose the maost appropriate answer from the options given below :

Fr=fafigs @ %1 ° GoaTea Al § U T4 HEaE SO0 9§ dieh 965 SeaEar & saea

£
=1 ] B

(A) T TEAEE FAST F 5T amaiE Areman £ Swe w1 2

(B) T7 9IEF @A-TEA SE91 % HHT H S Fal 2
(C) == f7a 310 TEUW F OWFiAE @l il e # A

(D) =7 FrreTes SO # ST e
= fan 0 faEeT § @ TEE I I 1 = A

Options:-
A Band COnly #as A B#RC

Option ID :- 3505,
A B.andD Only == A.BsFD

Option ID :- 3506,
Aand BOnly Fa5 A 3T B

1

Option ID :- 3507,
. Band COnly F& B3WC
Option ID :- 3508,

A BandCOnly *a= A B#HRC

’

Question ID:- 838
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Who deszcribes procesz of Modermisation as a Multi-faceted procesz involving change 1n all
areas of human thought and activity™?

0 T R s F1 A = AEE H=eA 0 e & 29 & A3 e w1 9 g #)

TETATEA (F721 THES) WA F =9 T g A 27
Options:-

Huntington =272

Option ID :- 3349,
. S.M Lipset =w.vH, fowe

Option ID :- 3350,
Rustow and Wand ¢ HE 918

Option ID :- 3351,

’

’

David Easton e
Option ID :- 3352,

S i
David Easton 2193 ¥4

Question ID:- 850

The first Lokpal bill was introduced in Parliament.

HHEE § ST 9T U] ® e e R T 7

Options:-

1971

Option ID :- 3397,

. 1967

Option ID :- 3398,

. 1968

Option ID :- 3399,
1969 ,

Option ID :- 3400,

1967

Question ID:- 843

Peaceful Nuclear Explosion (PNE) was a policy of the Government under?
It A SR (fieas) Feia 8§ | e a9 9 awe e A i A

Options:-
. A. B. Vajpayee 3= Tamwi sma=
Option ID :- 3369,
. Indira Gandhi =7 Tt
Option ID :- 3370,
. Narasimha Rao Fler ™
Option ID :- 3371,

Narendra Modi = o7

d ]

’

1
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FGption ID :- 3372,
A. B. Vajpavee 3775 Taeri s

Question ID:- 870

Which of the following statements ave incorrect with regard to Jayvaprakazh Narayvan :

(A) He believed in Guarantee of full individual and civil liberty
(B) He believed in Cooperative farms run by Village Panchayvats.
(C) A true nationalist desives to build on old foundation

(D) He regarded that Swarajya was not only a right but a Dharma’

{E) J. P. was a Sarvodayl leader

Choose the correct answer from the options given below :

T T AN F He § FefeEd #2908 FE 9 55 A ¢

(A)  FFH 0 = vF AP =T el W Era

(B) 3= W TEAEl gF HEER] F0 F e T Gvam
(C) =0 TizEwEl UEE = B HEE ] 9w 2
(D) =9 A 9 TF = FEe A9wE 95 ¢ 8eF 96 =

(E) =091 === = 4|

4/ fou 0 fReTl © [ HE 3 S AT A

Options:-

A BOnly *=@A B
Option ID :- 3477,

C.DOnly #a= C.D
Option ID :- 3478,
. B.DOnly
Option ID :- 3479,

D,EOnly Fa@D.E
Option ID :- 3480,

.. B.DOnly %= B.D

)

’

Question ID:- 896

Match List I with List IT :

List I Last IT
Books Writers
(A) Tragedy of Great Power Politics (I) Zakaria
(B) Polities among Nations Iy Waltz
(C) Theory of International Politics (IIT) Morgenthau
(D) From Wealth to Power (IV) Mearsheimer

Choose the correct answer from the options given below ;
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TH1-1 % My =1 G-I Toem e

il T
(A) Z=E AT U2 T WeAZIH (L) =
(B) STl T A9 (I = Te=d
(C) 2=l T Terame qiereas (III) =TS
(D) 19 964 7 5 I (IV) e

4= fow U T © 9 9E I 6 99 F

Options:-

Option ID :- 3581,
{A)-(II0D). (B)-(I). (C)-(IV), (D)=~(1L;

Option ID :- 3582,

. (A)-{IIT). (B)-(ID), (C)-(I}, (D)-(IV})
Option ID :- 3583,

. (A-(I). (B)-(IT). {(C)-«(IV). (D)-(111}

Option ID :- 3584,
(A)-(IV), (B)-(III). (C)-(ID). (DH-(T)

Question ID:- 914
Given below are two statements :

Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as

Reason R.

Assertion (A):  Pressure groups are involved 1n politics and policy making process In India
through direct and indirect means.

Reasonz (R) : They aspire to come to power to achieve their goals.

In the light of the above statements, chooze the correct answer from the options ziven below ;

= = T B E v Si9EeE (Assertion (A)) F =9 T @G 7 71 751 30 F9W (Reasons (R))

TR (A) A = TAAE A A R W W e SHE TeE 91 SANes ' % e o
ﬂlﬁi:lc;l?;'l%i%]
F1 (R) : o A9 = H W FAA A W E FS ] ATl 78 7

IYE YA F AT, A A T feweal § H HE 3 R =g A

Options:-
Both (A) and (R) are true and (R) 1 the correct explanation of (A)

(A) 57 (R) =FT @73 7 317 (R). (A) 1 @] == 3

Option ID :- 3653,
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Both (A) and (R) are true but (R) is NOT the correct explanation of (A)

(A) 37 (R) =F1 574 2 =4 (R). (A) F1 T = 771 ¢

Option ID :- 3654,
. (A) is true but (R) is false (A FF % o (R) = 2

!

Option ID :- 3655,
(A) 1s false but (R) 1s true (A) s 2 SF R) g 2

Option ID :- 3656,
Both (A) and (R) are true and (R) 1= the correct explanation of (4)

(A) AW (R) 5/ Ieg 7 #AW (R), (A) 1 =@ = 3

Question ID:- 853

Which among the following 1s incorrect about Vice-President of India: While he discharges the
functions of the President:

TP F A F FEeA FAd H9E 90 % 39 F Ted § HeenEd 8§ 3 #0690 e 20

Options:-
, He will perform the duties of the office of Chairman of the Council of States

T A S T F FAsl 1 FEe w5
Option ID :- 3409,
He will not perform the duties of the office of Chanwman of the Council of States

’
Option ID :- 3410,

He will not be entitled to any salary or allowances payable to the Chairman of the
. Council of States

T TGS AFA F A R I TGS F wFeE AR A
Option ID :- 3411,
He will not hold any office of profit = =7 o =79 =1 T2 21 W=7 =7
Option ID :- 3412,
.. He wall perform the duties of the office of Chairman of the Council of States

)

’

I A AAY 95 & TS F O AEE w00

Question ID:- 888

Which of the following Schemes is/are launched by the current Central Government?
(A) Pradhan Mantr Awas Yojna.

(B) Kisan Nvay Yoina,

(C) Pradhan Mantr Gareeb Kalvan Yojna.

(D)  Mer1 Policy Mere Haath

Choose the correct answer from the aptions given below :
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F=tefEs 4 | FE-H1 A0 909 T ST GE 9E 6 T R [RT

(A THEEE HAEE I
(B %q‘ﬁr-, = —m-
(C)  TaEEHE TR Fea G

(D) T Wi W e

20 70 TaF=]1 § | Ta] = 1 =99 Hiran:

Options:-

ABDOnly 3w A BD
Option ID :- 3549,

A B.COnly Fa=A.B.C
Option ID :- 3550,
. A C.D Only
Option ID :- 3551,
, ACOnly Faw@A,C

Option ID :- 3552,
A C.DOnly Fa=w A C.D

Question ID:- 871

While Justifving the slavery Aristotle gavs :

{A) “From the hour of birth some men are marked out for subjection and other’s for rule”

(B) That man of "Capacity, foresight. self-reliance and the Iife of virtue are intended by
nature to work with their mind

() That thev have capacity to discharge intelligently their own duties only,

(D) That they are machine without having any capacity to employ reason.

Choose the correct answer from the options ziven below :

TTEA] T I 250 FE § S T A

(A} T H I FF A TEAN F (@0 AR 5 T T F = HEE A E

(B) % 3 wpid gm =4 & foam & w6 w04 % fow aEe, gEE, s s ag 9 e A
37TE =01 =4 B
(C) 7% = fHaFq0 =1 3 =99 99 F Fa= F e il ama we 2

(D) = T gig S e S A I 5 A

4= fou T =T B w3 9 e

Options:-
,B.C.DOnly == B.C.D ,
Option ID :- 3481,
,D.C.AOnly FD.C. A,
Option ID :- 3482,

. AB.COnly a7 A B c
Option ID :- 3483,

. D.B.AOnly #99 D.B. A

’
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FGption ID :- 3484,
A B, C Only WAB.C’

Question ID:- 899

Match List I with Last I :

LastI List IT
Theory/Concept Thinlker
{A) Constructive Conflict (I} Frederic Herzherg
(B) Acceptance Theorv of authorty and (III) Abraham Maslow
‘Zonal Indifference’
{C) Hierarchy of Needs (III} Cheszter I. Barnard
(D) Hyziene-Motivation theory (IV) Mary Parker Follett

Choose the correct answer from the options given below :

-1 % @ %1 gei-11 e i

S| L
(A) F==Z{F2a T (1) hees =
(B) vHaged 1gsH] #iF wAA U3 AEel = (D) ST g
(C) wrsirht 3 s (II) ==X 3%, 9902
(D) =EAA-AZaE A (IV) =1 9Tt Hied2

= fau o TEed § 0 9e) 39 #2999 FiEn

Options:-
. [ARIV), (B)AIIL). (C)«I), (D)(IT) ,
Option ID :- 3593,
. {(AN-(IV). (B)-(IIL). (C)-(IL). (D)-(I)
Option ID :- 3594,

(A)-(IV). (B)-(IL). (C)-(IIL). (D)-(T)

’

Option ID :- 3595,
(A)-(IV). (By-(D). (C)-(IT). (D)-(I1T)

Option ID :- 3596,
(A)-(TV). (B)-(I1). (C)-(I1IT), (D)-(T)

Question ID:- 836

Who talked about ‘Synthetic Universalism'?

Options:-

. M.N.Roy wA.wA. 74
Option ID :- 3341,

. Vinoba Bhave Tt W

’
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Gption ID :- 3342,
. M. K. Gandhi o5 3 o5ef
Option ID :- 3343, '
. Rabindranath Tagore TefigATy e
Option ID :- 3344,

Vinoba Bhave (om0 9

’

Question ID:- 848

Arab Spring began in which country
sy foom 6 =9 © wmy 2am

Options:-

. Libya EieRl ;

Option ID :- 3389,

. Syria ::fﬁim,

Option ID :- 3390,

. Eovpt g '

Option ID :- 3391,

, Tunisia E2iien

Option ID :- 3392,
Tunisia Z=[HEAT

’

Question ID:- 835

When and who launched ‘Self — Respect movement' :
ATH T AT %9 AR AT Ane

Options:-
, 1940. M. K. Gandht 1940, v8.F. 774t
Option ID :- 3337,

1932, 3. L. Nehru 1932, 5.vs, 97%
Option ID :- 3338,

1925, Pertvar 1925, 4i=w
Option ID :- 3339,
. 1920, Tilak  1920.T77%

Option ID :- 3340,
1925, Periyar 1025, Hiran

’

Question ID:- 892
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Mateh List I wath List IT :

List I Last IT
Thinker Idea
{A) Hobhes (T)  Proportional Representation
{B) Locke (Il} Popular Sovereignty
(C) Rousseau (III) Constitutional rule
(D) John Stuart Mill (IV) Absolutism

Choose the correct answer from the options given below :

T=T- 15 @9 =1 g 11 foem i

-1 =-10
= =

(A) == (I) AT T

(B) =H (II) =rwIT= FTAT

(C) =@ (ITT) =T

(D) =9 =3 17 (IV) FrFemmEm

Fi9 feu T fawed § @ w81 I 1 =999 i
Options:-

. (A)-(I). (B)-(IL), (C)-(IIT), (D)-(IV)

Option ID :- 3565,
(AY-(IV). (B)-(11L). (C)~(II). (In-(I)

Option ID :- 3566,
. (AJ(II), (By-(I). (C)-(IIT). (D)y-(IV)

Option ID :- 3567,
(A)L(TIT), (B)-(ID). (Cy-(D). (D)-(TV)

Option ID :- 3568,
(AY-(IV). (B)-(11L). (C)-(IL). (D)1}

’

Question ID:- 909
Arrange the following Schemes by order of the launching vear

{A) Demonetization
(B) Goods and Services fax Act
(C) Pradhan Mantri Jandhan Yojna

(D) Beti Bachao. Bet1i Padhao

Choose the eorrect answer from the options given below :
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FretatEd fa=msl & =% 39 99 F #9 F A8 SFEad i
{A’ .’:Il:[____:iEF,J[H

(B) == va HEEE (H.uE L) s

(C) T 9 T

(D) =27 =13t =21 qeren

J fow T Tawed § ©§ O 39 0 =999 i
Options:-

(A). (B). (C). (I

Option ID :- 3633,
(4). (B). (D). (C)

Option ID :- 3634,
. (D). (A). (B (C)

Option ID :- 3635,

’

Option ID :- 3636,
(C). (D). (A) (B)

Question ID:- 864

What 1= the effects of globalization on food security?

Options:-
Wealthy countiries subsidies and trade bamrier make it difficult for developing
countries to take advantage of the potential of globalization for advancing food
security,
s o — N i c = n =N
1 T3 AT HEEel (AEEST) TEE A E S STien e Eemeie T g | g e
Option ID :- 3453,

World Trade Organisation rules do not cover agriculture. so globalisation really has no
bearing on food Security,

fava =amw @z F Fam 59 &= @ av) 96 79, satan v mrE geE W aned § saged
E ARGl
Option ID :- 3454,
Supermarket are so far the only way in which food and agriculiure have experienced
globalization.
qUTTRZ A1 SR OF 97 A7 7, T W TE F A 5 AvEr o T IS T
’
Option ID :- 3455,

Developing countries need to create publicly owned food reserves in order to realise
the potential benefit,

TIFTSTE =91 =61 T4 =9 ] 976 ¥ F FE ¥ SR EEeEaTE | 956 F [EE 5
Tl ':':|

Option ID :- 3456,
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Wealthy countries subsidies and trade barvier make it difficult for developing
countries to take advantage of the potential of zlobalization for advancing food

security.

Tl 591 SAUE wEEl (AEE) TEE HE B SN ST s e 59 gy w5 s6e
T 7 AV F WA T A F A FAA T S w7

Question ID:- 867

Consider the following regarding citizenship -

(A) A citizen is known by the mghts. he 15 allowed to exercise

(B) A person hiving in the state territory is a citizen of state

(C) Citizenship can be granted through process of naturalization,

(D)  If oneis born in the territory of a state. he will be recognized as a citizen

Choose the carreet answer from the options given below :

APTEAT F HEE H TR S

(A)  FE AT 3T FTFW (75F ITFF Fo 1 IH FAE w0 w, IHE A4 A

(B)  TI=9 U T3 TH1 T2 =0 0 AN w6 A

(C) STt Sofram = WA G T A oA 2

(D) 4tz #iE =afw &l T & 99 § 99 @q1 7 q9 98 A0 & &9 5 5E )

=g fon o g @ 9 w9 I oA

Options:-
ABCOnly 3=ABC

Option ID :- 3465,
. B.C.DOnly Fa9 B.C, D

Option ID :- 3466,

. A.C.DOnly

Option ID :- 3467,

. AB.DOnly #a+ A, B. D

Option ID :- 3468, '
A, C.D Only

’

Faa A.C.D

Question ID:- 913

Given below are two statements

: One 1s labelled as Assertion A and the other 1s labelled as

Reason R.
Asgszertion (A):  India has a hybrid system of government,
Reasons (R) ; The hybrd system combines two clazsical models: the British tradition and

American principles,

In the light of the ahove statements, choose the correct answer from the options given below :
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4= 71 Fo9 Ty 0 2 wR wfawes (Assertion (A)) F =9 4 foEs B A T 3H # F7 (Reasons (R))

FEIY :
SR (A) WA H R ] TR S 7
F (R) : TR I 9 T WA WEY - e v v i g it 2

IUTI A AR H, A 50T faedl 3 H weE 390 3 1 =g A0

Options:-

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

Option ID :- 3649,
. Both (A) and (R) are correct but (R) 18 NOT the correct explanation of (A)
(A) # (R) ZF1 981 2 |6 (R). (A) 1 791 =men 747 7
Option ID :- 3650,
. (A) is correct but (R) is not corvect  (A) T 2 704 (R) ##1 7 =
Option ID :- 3651,
{A) is not correct but (R) is correct (A) 75 781 2 =154 (R) =771 =

Option ID :- 3652,
Both (A) and (R) are corvect and (B) is the correct explanation of (A)

)

(A) &7 (R) =FT |21 7 #1 (R), (A) 1 9 =men 2

Question ID:- 866

Which of the following is correctly matched?

(A) Sexual Politics — Kate Millett
(B) Second sex — Shulamith Firestone
(C) The Feminine Mystique — Betty Friedan

(D) The Dialectic of Sex — Nicholson

Choose the most appropriate answer from the options given below :

fr=ifeas @ @ #7821 3@ ghieE 27
(A) TEEE ez -we me
(B) @%E #99 — G FAEEE
(C) = T TR — =21 e

(D) = SEEEZS ST - HEe
= fou 70 faFea 5 9 Hed S99 3T 1 99 I

Options:-
_AandBOnly 97 AB
Option ID :- 3461,

’
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_Band COnly ¥ B3 C
Option ID :- 3462,

. Aand COnly Fas A =@FC
Option ID :- 3463, '
. AB.CDOnly F@ABCD

Option ID :- 3464,
AandCOnly Fam A 3RC

1

’

Question ID:- 878

Which of the following iz correctly matched

(A) Deklam — Tryjunction

(B) Easter day Terror Attack — Sr1 Lanka
() Ulzraine - NATO

(D) Irag - GCC

Choose the correct answer from the options given below :
o ot s Ny o AL, ala 2y
M==Ed ¥ 4 &1 7 9 JH9id &i-

(A) EEeE —

(B) %27 = A 2 — HieE

() *mj 1

(D) =7k — 3 AT

S feu  Tawed 7 9 991 30 & 99 A
Options:-

AandD Only Fg= A 3D
Option ID :- 3509,
Aand BOnly Fge Axin B
Option ID :- 3510,
, Band C Only Fa= B3 C
Option ID :- 3511,
Aand DOnly FHag AsTD
Option ID :- 3512,
Aand BOnly Fge AR B

Question ID:- 862

Which of the following report 1s published by NITI AAYOG?

ettt & i -f e s g s e 27

Options:-
National Multidimensional Poverty Index T Er:'_'ﬂﬂ]ﬁﬁ e

Option ID :- 3445,
, Economic Survey AT =T

’
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FGption ID :- 3446,
EniE it o

Unemplovment Rate
i ]

Option ID :- 3447,
National Sample Survey

Option ID :- 3448,
National Sample Survey ¥ WiAss HA&m

1

’

Question ID:- 837

Dr. B.R. Ambedkar's paper ‘Small Holdings in India and thewr Remedies’ i related to:
7. H.AT. AATHEL F w0 T B 39 Ied1 UE 2 I AeEngd | Hera 2

Options:-

, Indian Agrarian system WA T }
Option ID :- 3345,

. Indian Political system A AR
Option ID :- 3346,

. Indian Education system  Huarg Toray sa=ea7 }
Option ID :- 3347,

. Indian Culture only El) m?‘_ﬁh HI }

Option ID :- 3348,
_ Indian Education system  gudAm [oy =aae4]

Question ID:- 875

Which of the following hook 1s /are authored by Max Weher

(A) The theory of Social and Economic Organisation
(B) The theory of Administration of the State
(C) Economy and Society

(D) The Elements of Administration

Choose the most appropriate answer from the options given below :

Frefetas @ 7 % ok g9 9e g fadl T &

(A) = 93T 37 OFT TS SEEIEE ATEESEA
(B) & 9% 377 USHRIR ATE § w22

() 7 =THT T'_E' Il- AT

(D) & UETEL AT TS

4= o T e 8 @ TEE I9E 3w 9 i

Options:-

, AOnly #a= A )

Option ID :- 3497,
AandBOnly Fa9 A B

° )

Option ID :- 3498,
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.AandDOnly ¥ AFRD
Option ID :- 3499,

Option ID :- 3500,
Aand COnly Faa A #FFC

Question ID:- 852

Article 169 of the constitution makes the provision for the abolition or creation of -

TiEEE T AT=IG 169 MEeEn F SHeA S9A @A o I9EE TIE FAl 5

Options:-
i " r
. Legislative Councils in state =7 19911 A%

Option ID :- 3405,

=9 FHT | |2 ) 7= g w0
Option ID :- 3406,
All India Services ° e AT Fam

Option ID :- 3407,

None of the above =9 § % &1 931
Option ID :- 3408,
Specifies the number of seats for the Rajya Sabha  T°F T A HiZl 1w i

1}

)

Question ID:- 851

Who among the following was the Chairman of the Advisory Committee of the Constituent
Aszzembly?

T T F1 TTEFT 9E F 95E e 5 9 5 97

Options:-

. Rajendra Prasad T TR
Option ID :- 3401,

. Jawaharlal Nehru Fa@tee eI
Option ID :- 3402,

’

’

Option ID :- 3403,
. Maulana Abul Kalam Azad  He1 58 a9 791
Option ID :- 3404,

_ Vallabhbhai Patel =Fg99E 724

’

’

Question ID:- 849

The United Kingdom (UK) voted for Brexit in
T1E2s few 3 e = sfdme + w9 5 gaeE

Options:-
2017
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"Option ID :- 3393,
. 2019
Option ID :- 3394,
. 2016 ,
Option ID :- 3395,
. 2020 ,

Option ID :- 3396,
. 2016

Question ID:- 845

UNO proclaimed International Yoga Day through the Rezolutions 69/131 in the year
T T2 99 4 H%e9 A. 69/131 F Wi § TR a9 s 9 e o aren i

Options:-

2015

Option ID :- 3377,
. 2014

Option ID :- 3378,
. 2016

Option ID :- 3379,
. 2017 ,

Option ID :- 3380,

.. 2015

Question ID:- 893

Match List I with Tist IT:

List I List IT
Theory / concepts Thinkers
(A) Imtegral Humanism (I) M. N.BRoy
(B) Total Revolutian (I Deen Daval Upadhyava
(C) Radical Humanism (IIT} Perivar
(D) Self Respect Movement (IV) Jaya Prakash Narayan

Choose the correct answer from the options given below :

Ti-1 % =4 %1 ge1-11 {Hera i

T =11
(A) TR OHEER () TmEmE T

(B) Tl A (I &/ zam 39

(C) =3 5rHEaEE (IIT) wi=w

(D) ¥ TEE A (IV) S==hreT 0w

4= Tou T fawedl § o HE T 6 999 Sian

Options:-
(AT, (B)-(I). (C)-(ID). (D)+IV)

Option ID :- 3569,

l
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. (AHID. (B)-(IV). (C)-(I), (D)-(I1T) ,
Option ID :- 3570,

. (A-@). (B-ID. (C)-(IV). (D)) ,
Option ID :- 3571,

. (A)-(IV). (B)-(1). (C)-(IL), (D)-(I1T)

Option ID :- 3572,
- (ARID. (BHIVY (C)-(I), (D)-(I1T)

’

Question ID:- 827

Which of the following i= not an essential condition of democracy?

Fafeiaa O 9 =9 o Ao F7 TS Tata 95 A

Options:-
. Liberty w=o=
Option ID :- 3305,

’

Equality #gmm
Option ID :- 3306,
Independence of Judiciary =T S F=aaal
Option ID :- 3307,
. Committed Judiciary WiAsg =TTl
Option ID :- 3308,

n:- Committed Judiciary Widag =EaT=iH
. 1

’

Question ID:- 856

In the event of the dissolution of a Panchavat hefore the completion of its time period. the
Panchayat constituted thereafter shall perform -

1 T=TER % THE T 9EIE F U 9 =6 Fi T4E ¥ 1 e 9=Ea e s

Options:-
g parod, B9 A &+ feru

For the rem
[ ] ’

Option ID :- 3421,
For the entive five vear
Option ID :- 3422,
. As decided by Gram Sabha W5 941 211 ST fatrEa A |
Option ID :- 3423,
As decided by Gram Pradhan %8 W& BRI =400 Tafy=d T =

’

1

Option ID :- 3424,

For the entive five vear T T4 9 F @0

Question ID:- 869
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The Saptang Theory of State Comprises:

(A) Swamy. Amatya

(B Janpada/Rashtra, Mitra
(C) Durga. Kosa, Danda

(D) Adhyakshas. Ayvamukham

Choose the correct answer from the options ziven below :
= = AT g 9 e =

(A) =TI, AHE

B A, =

€ o, %1, 5

(D)  w=g8, SIEE

4= fov T T B § A 3w =94 A

Options:-

A B CandD A B.C3RD .
Option ID :- 3473,

.C.D.A Only F=C.D.A
Option ID :- 3474,

. B.C.DOnly #F=a1B.C.D
Option ID :- 3475,

’

’

Option ID :- 3476,
A B. C Only Faa A B, O

Question ID:- 858

What 1s not included in ‘Five E' approach in Policy analy=1s?

dfafaremn = wm s s i Ao s e TR g eI T5 27

Options:-

. Effectiveness )

Option ID :- 3429,
Efficiency &m0
Option ID :- 3430,

Ethical Consideration - s
’

Option ID :- 3431,
Evidences o

Option ID :- 3432,

Ethical Consideration -

Question ID:- 886
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What 1= common 1n the election symbols of the Samajwadi Party, Telugu Desam Party and
Mamipur People's Party?

HATEE] T, G 589 Tie A ' 9ed Ol # 99 o § v 5Ee o 27

Options:-
, Leaf qT-ﬁ,
Option ID :- 3541,

Option ID :- 3542,
Lantern mmg
Option ID :- 3543,
. Flower )
Option ID :- 3544,
Cycle gEfFa

Question ID:- 840

iich of the following is not true about Peter Drucker?
Wiz7 S F W0 H Aeteingd 3 4w A5 HE 96 T

Options:-

N K B = [u . 1 o r [ (s
SR 5§ e TR I e (et Al
U

. Heauthored the book titled “The Effective Executive”
Option ID :- 3357,

= T 1 & ¢ £ O
He coined the term 'Knowledge workeps' S0 20 Fdal (FTE =67 ) 75 FHT 10

Option ID :- 3358,
. He coined the term "MBO' 3= U5 #il 311 73 FiHq &
Option ID :- 3359,

He coined the term S. M. A R. T.  ==H v 18,0 57 1. 9% 909 =

Option ID :- 3360,
_ He coined the term MBO' ‘T=E T a1 un i e

’

Question ID:- 885

Which of the following are related to electoral reform in India?

(A) Dinesh Goswami Committee
(B} Indrajit Gupta Committee
(C) Tarlkunde Committee

(D) Santhanam Committee

Choose the correct answer from the options given below :
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FeTTetEs § =i 97 ° S -G H weie i 7 ¢
{A) ToAeT T =

(B) =5 TH HHA

(@ AES HHE

D) =uwE A

Tou T fag=a § | 5A 3 F 95 Fia

Options:-
A BOnly 35 A B

Option ID :- 3537,
B. C Only

’

. #a@ B, C |

Option ID :- 3538,
A B.COnly #35A B. C

Option ID :- 3539,
ABCD ABCD

Option ID :- 3540,

. ABCD s gD

’

Question ID:- 859

Tt 15 getting harder to run a constitution than to frame one’”? Who made this statement?

et wfaem 1 s i SJ9E 6 S gER AT 2 97 FE e T

Options:-
. L.D. White 93 %R

Option ID :- 3433,
Ronald Reagan 1@ 9

’

Option ID :- 3434,
. Woodrow Wilson 57 =7
Option ID :- 3435,
. Margret Thatcher o7z =1
Option ID :- 3436,

Ronald Reagan /== 74

- )

’

1

Question ID:- 895

Who has written the book ‘Gender in International Relations
"Fot 5 ST frew | AE T e fe 22

Options:-

Ann Tickner w5, T
Option ID :- 3577,
. Cynthia Enloe {afr s=i
Option ID :- 3578,

’
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. Arundhat Roy
Option ID :- 3579,

—_—

, Hillary Clinton fretll frerz
Option ID :- 3580,
Arundhati Roy %4 fl 74

Question ID:- 855

Who amongst the following 1= the editor of the book “The Indian Paradox™
"7 35 WEEE | AF TE § ANeE A § J F5E A

Options:-
. Rajeev Bhargava rsiig urmE
Option ID :- 3417,
., Myron Weiner g dm7 ]
Option ID :- 3418,
. Subhash Kashyap 449 %774 }
Option ID :- 3419,
., Granwille Austin Bl St
Option ID :- 3420,

. Myron Weiner amry JH7 )

’

Question ID:- 826

Who among the following identified two tyvpes of inequalityv: natural inequality and
conventional inequality?

r -~ AN L G W A . s he B e & e £
HERIAET J H o JAEHHGT 6 89P0 HEHEG Ud SR A5G F B9 H EIERRE R

Options:-
. Thomas Hobbes 179 715
Option ID :- 3301,

John Locke —p -
Option ID :- 3302,

J.J, Rousseau 3 5 -

'

Option ID :- 3303,
. Montesquieu =7

Option ID :- 3304,
John Locke — ¢

Question ID:- 830

Who wrote the paper enfitled. “A Discourse on the Moral Effects of the Arts and Science™?

fFetetaa § o T w1 Toore 519 £ OFe $EeEd AT £ AT UUs HigE ) 3heE o wae e

Options:-
Dante Alighterl =13 ofefen

b ]
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FGption ID :- 3317,

. St. Thomas Acquinas T2 ITHH T
Option ID :- 3318, '
, John Locke =i &
Option ID :- 3319,

Jean Jacgues Rousseau

Option ID :- 3320,

Jean Jacques Rousseau  F17 5195 =47

1

Question ID:- 868

Which among the following instruments of Direct Democracy are functional in Switzerland?

(A) Landszemeinde
(B) Referendum

{C) Initiative

(D) Reeall

Choose the most appropriate answer from the options given below ;

o = 5 > M SN e - 2 ~ [ r e i, S
NG ¥ 9 & 8 3990 (S H2) TEZes § Ueds W o EREEE FEE g R

£

(A) F=grEame
(B) A TUE
() L o

(D) THTEH

4= 7w T T 8 1 Tey T 3 H 99 & L

Options:-

JABCOnly F@AB.C

Option ID :- 3469,

. AC.DOnly ¥ A.C.D,

Option ID :- 3470,

. B.C.DOnly a7 B.C.D

Option ID :- 3471,
AB.C.D ABLCD

1

’

Option ID :- 3472,
B.C.D Only #== B.C.D

Question ID:- 915
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Given below are two statements ;
Statement T :  U.N. has defined 12 Pillars of zood governance,

Statement IT : S8DG 14 is divectly hinked to improvement In governance.

In the Light of the above statements, choose the correet answer from the options given below :

FoA 1:  HOh T8 A9 A "IEE % 12 T91 R g e 2

T I :  Has @HE 5A-14 119 71 0 IeE 1 U § TEg 6

T FEA F A H, 99 50 T e 8 H HE 39w =6 S

Options:-
Both Statement I and Statement IT are true

Option ID :- 3657,
T 15 I = w8 5

’

Both Statement I and Statement II ave falze
Option ID :- 3658,

Statement I1s true but Statement I is false
Option ID :- 3659,

Statement I is false but Statement Il 1s true o3 1w 3 ST T o= 2

Foa [ 579 7, =T 94 1l 593 &

Option ID :- 3660,

Both Statement I and Statement Il are true %27 1 37 I =M1 5 a

Question ID:- 839

Who among the following looks at revolution as a 'Sweeping fundamental change in the
predominant myth of Social order'?

L it it e D o 7 e 0 M e 2t e o e e e o e i o e | i i M = et
27
Options:-

Newmann —nyg
’

Option ID :- 3353,
S. P. Huntington 9.1, =fzrz4

Option ID :- 3354,
T.S. Kuhn 47H. =

Option ID :- 3355,
G. 8. Pete H1.99. 92

° )

Option ID :- 3356,

T.S. Kuhn .98 ¥
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piﬁuestion ID:- 891

Match Tist I with Li=t IT :

List I Last II
Author Books
{A) D.D. Raphael (I) Elements of Social Justice
(B) Ernest Barker (IT) Problems of Political Philosophy
(C) L.T. Hobhouse (ITI) Principles of Social and Political
Theory
(D) F.A Havek (IV) Constitution of Liberty

Choose the correct answer from the options given below :

Fei-1F =1y 1 F-11 e i

-1 TI-IT
: r}q [ 1_EJH—F
(A)  EE0L T (I) vHEAH=" % A9 TR
(B) w7z &THr (II) =T STF T2 TFea
(C) vH.F, T (III) Tofegen 7% T9e U TieeFa (aer
(D) THEU, TR (IV) T =1z 1 T
19 o T T 8 H HE I =99 i
Options:-

(A0, (B)-IID). (C)-(D. (D)-(IV) ,

Option ID :- 3561,
(AT, (By-(ID). (C-(IV). (D)-(I)

. ]

Option ID :- 3562,

(A)-(I), (B)-(II), (C)-(IIT). (D)-(IV)
Option ID :- 3563,
. (AIV). (By-(I). (Ci-(III). (D)~«IL

Option ID :- 3564,
(A)-(D), (B)-(IT), (C)-(I1I). (DH-(IV)

’

1

Question ID:- 828

Who among the following defined =zocialism as a chameleon, which changes its colour
according to the environment?

FreATeiaa B | e gerEas 1 TAE % =Y 0 SeEnad e R A gara FOggEn S T S &

Options:-

. C.E.M. Joad #ima. 1=
Option ID :- 3309, '
. Emile 3AEA }

Option ID :- 3310,

. Ramsay Muir ECE =i
Option ID :- 3311,

’
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p.in
Hugham =g

Option ID :- 3312,
Ramsay Muir 949 =0

Question ID:- 842

Project Mausam 1= a policy linked with
T 9EETSET AT AT § e T8

Options:-
. Environment protection mpjaroy mram ‘
Option ID :- 3365,
. Climate change e Tt
Option ID :- 3366,
. Indian Ocean region 7= TR &
Option ID :- 3367,
. bayof Bengal e i =TS
Option ID :- 3368,

Chmate change i e

1

Question ID:- 890

Who wrote the book “The Rise of the Plebians™

- = B o ' [ s o
o Alsd AT § WsE~ Jids = Teigl f

Options:-
. Amartya Sen a9 99
Option ID :- 3557,
. Partha Chatterjee Al =z
Option ID :- 3558,

Chrstophe Jafferlot and Sanjay Kumar

Option ID :- 3559,
., Suhas Palshikar II_?WW?-T-F‘ ,

Option ID :- 3560,

’

’

_ Christophe Jafferlot and Sanjay Kumar TFZI FEE] A7 HA FAT

Question ID:- 857

No money bill can be introduced in the lezislative Assembly without the recommendation of

the

T @ Teeet Tt o e w0 i o e e 5w e T wwr

Options:-

. Speaker WA (=) )

Option ID :- 3425,
Governor I

1
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Option ID :- 3426,
. Chief Minister =g HAl
Option ID :- 3427,
Finance Minister {45 o
Option ID :- 3428,
.. Speaker FH (F 5T ‘

1

Question ID:- 887

Which of the following 1s/are correct :

(A) Structural approach focuses on economy and efficiency,

(B) Human Relation approach deals with the relationship among the people working in
organmsation,

(C) Behavioural approach emphasizes on the study of the development aszpect of the
administration.

(D)  Political economy approach emphasises on the application of economic methods and

models of political problem

Choose the correct answer from the options given below:

P % 5w E wE 3

(A)  EEEATHE TE GYSEE UF SEAT WO ed 2 R
(B) T HEY UM, 9 ¥ FH H T S F S gEy 3 HeEEE 7 7

(D) T A S ANGE G T Tt FEe I F S A a2

fan  faweTi 6§ TE 39 W = A
Options:-
ABDODl 33— 18D

Option ID :- 3545,
, BCDOy wwmB.CD
Option ID :- 3546,
. ABOnly F49A.B
Option ID :- 3547,

C.DOnly FC.D
Option ID :- 3548,

ABDOMN e & B D

Question ID:- 872

Which among the following ideas are part of Cultural Revolution.

(A) Children are the masters of new =society,

(B Only the poor peasants can and must be the basic force to be relied upon the land
reforms,

() Under feudal domination marrage 12 barbaric and inhuman institution.

(D) The women are reserve for home making,

Choose the most appropriate answer from the options given below ;
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frefertim # & 1 B faw AR FE F A7

(A) == AU @ETH F qiers () A
(B) W™ guW 74 oW HdA FFEE A g9 #0560 2 A7 3 99 A [Avas e e 9y
(C) = A F Wi AT U WA S AnEE S A

4= oo o fawen § 1 =91 3 99T i

Options:-

ABCOnly == A BsrwC
Option ID :- 3485,
. A C.DOnly Fas A, C w7 D
Option ID :- 3486,

B.C.DOnly #F=5 B.C =D
Option ID :- 3487,

AB.C.DOnly #a9 A. B.C 3mD
Option ID :- 3488,

_ABCDOnly F=mA B.C#HRD

’

Question ID:- 882

Which of the following 1= correctly matched.

{A) SAARC - Kathmandu

(B) Act East Policy — Narasimha Rao

(C) Netghbourhood first policy — Narendra Modi

(D) Aszian Infrastructure Investment Bank — Rualalampur

Chaose the most appropriate answer from the opticns given below :

TAtetas o T A FE1 2 3 gHieE 27
(_‘5: H ':fr’ - ’}q;'_:rll?

(B)  wa7 =2 UiiEHE - FEE 7

(C) et WSS9 R A - A A

(D) TEEE T A A - T

A= fam o faFew § | T 9T I F 9 i
Options:-
. CandD Only A C 3D
Option ID :- 3525,

Aand C Only Fa5 A3 C

’

Option ID :- 3526,
_ Band COnly #39 B 3 C
Option ID :- 3527,
, Aand D Only Fam AaﬁTD,
Option ID :- 3528,

’
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Aand COnly Fa A#R C

7

Question ID:- 860

Who among the following is the author of the book ‘Introduction to the studv of Law of the
constitution?

Options:-

. A. V. Dicey .l z@E
Option ID :- 3437,

. Jermy Waldron Rl AregH
Option ID :- 3438,

]

e

= TH. T
Option ID :- 3439, )
Gordon Scoll 57 T
Option ID :- 3440,

Stephen M. Griffin T TH. T

Question ID:- 902

Given helow are two statements :

Statement (I) :  John Stuart Mill divided all actions of the individuals into two categories

viz., self regarding actions and other regarding actions.
Statement (I} :  John Stuart Mill sayvs “Liberty consists in not doing what one desires”
In the hight of the above statements. choose the most apprepriate answer from the options
given helow :
fETFE R
F2 (1) 7 =3 O 3 =i 1 e w2 g 5 et e s =

T2 (1) : 9 22 e F= 2 A B Al B, 36 A WA § S A
i i T 7 e i T I il L e B B = e e e e e e 1
Options:-

Both Statement T and Statement IT ave corvect &%= 1 3T [T 5H1 51 =
Option ID :- 3605,
Both Statement I and Statement IT are incorrect F27 L #7 ILTH 770 7

Option ID :- 3606,
Statement I is correct but Statement II is incorrect F5F L #71 2, wirdd F2F I o7 7

1

Option ID :- 3607,

Statement I is incorrect but Statement I1 is correct F99 1790 2, W F27 [L#A 7

1
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pin
Option ID :- 3608,
Statement I is correct but Statement II is incorrect F4a 1 &7 7, =i 47 L 7oA 7

Question ID:- 863

Who among the following proposed the concept of Constitutional Ombudsman in Parliament
in India?

o 8 3 T 9T g0 | g3 =Y ° ST ST 5 e

Options:-
 Dr.LM Singhvi SiFer Te.TH. THEE]
Option ID :- 3449,

. Ashok Eumar Sen  #9% FAK &7
Option ID :- 3450,

. Shanti Bhushan w1t ™
Option ID :- 3451,

. Aruna Roy s g
Option ID :- 3452,

_ Dr.LM. Singhvi S ve.0H. foeel

1

’

’

’

Question ID:- 900

Match Tast I with Last IT :

List I Last IT

Place Jansunwai
{4) FEot Kirana (In'  IVth Jan Sunwai
{(B) Bhim (Il) IstJan Sunwal
(C) Vyapura (III) IInd Jan Sunwai
(D) Jawaja (IV) IIIrd Jan Sunwai

Choose the correct answer from the options given below :

FH1-1 5 719 1 10 s Fim

=11 =-1I

reli _'FI'H_-EI'I'EC
(A) =Rz TR (L) =ieli == g
(B) == (II) w8 5F Fear
(C) = (IIT) ==t 54 =70
(D) === (IV) # 57 Tan
1 5o o T § 9 wE 3w T i

Options:-

. {A)-(IT). (B)-(IIL). (C)-(Iy. (Dy-(IV)

Option ID :- 3597,
(A)-(I), (By-(IL). (CY-(IIT). (D)-(IV)

Option ID :- 3598,

’
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. (A)-(ID. (By-(IID. (CH-(IV). (D)-(T)
Option ID :- 3599,

(A)-(II0), (B)-(IV), (C)-(Ih, (D)-(I1}

Option ID :- 3600,
(A-(IL). (B)-(III). (Cy(IN). (D)I)

!

Question ID:- 873

Consider the following statements regarding John Rawls's theory of justice?

(A) Justice 1s the first virtue of Social Institutions.
(B) Justice 1s the first virtue of State institutions
(Ch In a just society the rights Secured by Justice are not subject of political bargaining.

(D) In ajust society the rights secured by justice are not subject to social obligation,

Choose the correct answer from the options given below :

T T % =T g F o9y § ey w9 W EEw i
(A) =g T TR F TR TR A
(B) =T U9 HEEI W Umed =g 2|

(C)  TF == T TAT 0 AT G OiEn S T Sl 6 e a6

(D) U = T SHT § A G Hien SR ST arsaal =9 A8 2

= om0 fawed B 9 5 I w9 A

Options:-
. A . BOnly #aAB
Option ID :- 3489,
. B.COnly Faw B.C
Option ID :- 3490,

A COnly ==m 4 C
Option ID :- 3491,
JAB.C.D

Option ID :- 3492,
. ABCD ABCD

1

Question ID:- 829

Which of the following book 1z not written by Michael Oakeshott?

'y s e 3 - e [N T3 -
AHANGT H H &iE {1 _'j\‘.-ri'-h HIS=he] HTHEZ GEIT AR == 75 7 1

Options:-

TFHAE U 32 HiSH

Experience and its modes ]

Option ID :- 3313,

. Rationalism in Politics  Toale=n =9 Tii=iza9
Option ID :- 3314,

. The History of England 3 &1 v s
Option ID :- 3315,

’
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Introduction to Leviathan z2=wH z S IERIEE
Option ID :- 3316,

Experience and its modes

’

g U 529 A
1)

Question ID:- 905

Arrange the following according to chronological order.

(A) Kyoto Protocol

(B) International Covenant on Economiec. Social and Cultural Rights,

() UN Conference on Environment in Rio de Janeiro.

(D) UN Declarations of Human Rights,
Choose the correct answer from the options given below :
Trtetaa i FEwaEET F8 5 S firan -

(A) T WEE

(B) 4= Wi A ARE SR W S E T
(C)  Teifs-SA0aT § Ty 7 1.0, T

(D)  THEITFEAT T 4.0, IEE

Hr= fou o faeat O @ wA I R == i

Options:-

Option ID :- 3617,
D.B.C.A

Option ID :- 3618,
DCA B

Option ID :- 3619,
B.C.A.D

Option ID :- 3620,
ACGB.D

Question ID:- 861

Which among the following is not included in classification of Inferest groups given by
Gabrel Almond.

Hfsae wmrs g e =23 @ 5 =it B e 8 13 53 g 54 87

Options:-
Non Institutional Interest groups T HEETF T2 R
° )

Option ID :- 3441,
Non Associational Interest groups W Ha-ica® 15d T97

Option ID :- 3442,
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o~

Anomic Interest groups AW 2 A7
Option ID :- 3443,
. Associational Intevest groups  FTEATHH ek
Option ID :- 3444,
Non Institutional Interest groups 17 FEATHF T T97

’

Question ID:- 844

Para Diplomacy 1g/was part of India’s Foreign Policy under

1 Tewdt (#1g Feda) fetitea § 3 fFes 99ea 7 ava i faoo il 2

Options:-
. P. V. Narasimha Rao .41, T&= 1@
Option ID :- 3373,
. Rajiv Gandhi DEICE G ,
Option ID :- 3374,
, Dr.Man Mohan Singh =i, FHE = '
Option ID :- 3375,
, Narendra Modi = "l '
Option ID :- 3376,
P. V. Narasimha Rao .. Fii9= 7

)

Question ID:- 903

What 1s the correct sequencing of these movements in India,

(A) Quit India Movement
(B) Non Co-operation Movement
(o) C1v1l Disobedience Movement

(D) Total Revolution Movement

Choose the correct answer from the options given helow :

T # HEAR TGS ATEEE F TR e b R Y

(A)  OTE TIE SR

(B)  oresam aeee

(C)  =AfFE J3577 S

(D) =97 A A

4= Ton T fFEeT 7 9 wE I a9E e

Options:-
B.C.A.D

Option ID :- 3609,
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.D.CAB
Option ID :- 3610,
B.C.D. A ,
Option ID :- 3611,
. D.B.C. A '
Option ID :- 3612,
B.C.A.D

Question ID:- 854

In which case the Supreme Court of India ruled that the provizsion of Judicial review comes
under an essential feature of the Indian Constitution -

qiA % Iw0d AEE A4 e 9 § 97 g T e wEeee S0 qeaE digae
A= TaEHdT & FPla A B 7

Options:-

S. R. Bommai cage TH.FW. ST AEA
Option ID :- 3413,
. Golaknath case e amen

Option ID :- 3414,
Minerva Mills case

’

Option ID :- 3415,
Indira Sahani case == T4 o=

Option ID :- 3416,
Minerva Mills case o371 fomm wen

Question ID:- 897

Match List T with List IT :

ListI List IT
Women Group Place

(A) Forum Against oppression of Women  (I)  Della

{B) Saheli (I} Mumbai
(C) Stree Shakti Sangthan (IT) Bangalore
(D) Vimochana (IV) Hwvderabad

Choose the corrvect answer from the options given below :

FE-1 % Ty 1 G-I e Fw

T I

HiEeT TR i)
(A) FA T ACEA A T (n T=g
(B) wEeAl I ===
(C) =T =@ (IIT) =Tem
(D) TamrEn (IV) e

e 7 e e § H HE 3 R =9 i
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Options:-
(AT, (B)-(ID), (C)-(IV), (I)-(IIT)

)

Option ID :- 3585,
(AL, (B)-(ITL, (Ci-(I, (Dy-(IV)

Option ID :- 3586,
. {(A)-(IV). (B)-(I, (C)-(II), (D)-(111) )
Option ID :- 3587,
. (A)-(ID), (B)-(I), (C)-(IV). (D)-(I1T)
Option ID :- 3588,

{(A)-(TV). (B)-(Th (C)-(II). (D)-(IIT)

’

Question ID:- 880

Which of the following 1s correctly matched.

{A) Hydropower Diplomacy — India- Nepal
{B) Basic Group - China

(C) Groupof 77 - USA

(D)  BIMSTEC - Pakistan

Choose the most appropriate answer from the options given below :

T=AfeiEy § |5 %1 T8 27 9 g 7 ¢

(&) = faae gl - g9

(B)  H=EF I - T

() HE-77 -4 WHT
el b i~
‘D:l ﬁq::_'ifl - q”':fj:i '-‘[
S fom o fapeat & | Hem T9aT I w9 A
Options:-

AandD Fm Ad7TD
Option ID :- 3517,
. Aand B
Option ID :- 3518,

CandD =as C wr D
Option ID :- 3519,
. BandD #a=B=mD
Option ID :- 3520,

AandB F5 AT E

Question ID:- 889
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A Civil Society eco system usually includes within its ambit
(4) Non Profit Organization

B) Online groups

(C) Religious Leaders

(D) Legislature

Choose the most appropriate gnswer from the options given below :

T FPTE O 9 g % 97 § S50 9 MEE 2 2 7
(A)  SETIEE A

(B)  Hieme T

(C) g =

(D) T
120 70 T=Fear 4 | 9l 390 ) F9 hira

Options:-
A B.D Only

Option ID :- 3553,
A BOnly #a=iA B

Option ID :- 3554,
A B.C.Only ¥55A.B. C
Option ID :- 3555,
AOnly Fa7A
Option ID :- 3556,
A B. D Only ﬁ?*r' A BD

1

1

7

Question ID:- 876

Which of the following is/are not a characterstic of the modernisation process according to

Huntington
(A) It's a revolutionary process
(B) It's a reversihle process

(Cy It's a homogenising process

(D) It's a complex process

Choose the most appropriate answer from the options given helow :

Fr=fefias @ & %1 =0 F s9En saEFE i R & A fqes 175 27 7
(A) 7= T SifasE WA 7

(B) = v faaae uiEE A

(C) =% TF TEATE T 2

(D) % UF e A 7

1= 20 70 Tae § F TeE 39 I R 99 i
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p8ptions:-

A COnly 3w A.C
Option ID :- 3501,
. BOnly #@B
Option ID :- 3502,
. A. B Only Fae A, B
Option ID :- 3503,

A Only #am A

Option ID :- 3504,
A Only =am A

!

’

Question ID:- 907

Arrange the following regional political parties in chronological order, as

per their date of establishment.
{A) DMK

(B) Shiromani Akal Dal

(C) TDP

(D) Biju Janata Dal

Choose the correct answer from the options given below :

Fretelgs & Triar T 1 ST TN % FORRAEET S i
(A) SuEE

(B)  TErEmir AT o
(Cy  FiEm

(D) =T 5 5
I Tou T T § T wE == T = ST

Options:-
. B.A.C.D
Option ID :- 3625,
. ABCD
Option ID :- 3626,
ABDC
Option ID :- 3627,
. DA B.C

Option ID :- 3628,
A.B.DC

7

Question ID:- 881
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Whach of the following 1= correctly matched
(A) War on Terrorism — USA

(B) Maritime Silk Road - India

(C) Viktor Yanukovyeh - Ukraine

(D) Line of Control - China

Choose the correct answer firom the options given below :

=it © 9 %5 o4 =0 9 "5EEn 2 7
(A)  FEFEE F F5g I3 - 1UET,
(B) TMCE o= o ~ awH

(C) oz T - A

(D) T7=am may - 5.
= fou 0 e § | geE I9EE I F 9aE i

Options:-

Aand D Only Fa= AsrD
Option ID :- 3521,

Aand C Only ¥a% A3k C

hd )

Option ID :- 3522,

. Band COnly #3@ B3 C

Option ID :- 3523,
CandDOnly F= Ca3hD

Option ID :- 3524,
AandD Only gs A D

Question ID:- 831

Who among the following authored 'Black Skin, White Magk?

Options:-
. Hannah Avendt 731 W=z
Option ID :- 3321,
, Frantz Fanon %3 ﬁq:[,
Option ID :- 3322,
. Mary Wollston Craft T FievEA FE )
Option ID :- 3323,
. Marcus Graveg OFs F97
Option ID :- 3324,

Frantz Fanon %3 ﬂ,—fq:['

’

)

Question ID:- 884
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Which of the following have caused the growth of Co-operative federalism in India?

(A) Union — State collaboration in economic matters
(B) Union — State legislative relations

() Compulsion of developmental finance

(D) Dynamics of electoral politics

Choose the most appropriate answer from the aptions given below :

WA H e AHAT 1 wghg F e et § 5w 6

(A)  FTF AW § S99-T99 "5

(B) TE-TT=7 faur gEa

(C) T =9 =1 A

(D) AT T i

LA 1 B it e B e e o s e 0 e e 1
Options:-

A COnly FaaA.C
Option ID :- 3533,
., A DOnly Fa9A.D
Option ID :- 3534,
.B.COnly ¥@B.C
Option ID :- 3535,
_B.DOnly #a5B.D
Option ID :- 3536,

A COnly === A.C

’

1

’

)

Question ID:- 898

Match List I with List IT :

ListI

Trade Union

(A) All India Central Council of Trade
Union

(B) Bharativa Majdoor Sangh

(C) Indian National Trade TUnion
Congress

(D) Labour Progressive Federation

(D

(IT)
(III)

(IV)

List II
Party / Organisation Affiliations
Dravida Munnetra Kazhagam

Communist Party of India (ML)

Indian National Congress

Rashtriva Swayamsevak Sangh

Choose the correct answer from the options given below :
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F=i1-1 =19 =1 g=i-11 T5em i, ;

-1 T=-11
(A) ¥ SIS Bege RIS ATE 73 T () g g4 =
(B) 9™ T w9 (Il) Fegf= Tid1 =% sr= (v
(C)  =T77 Foa 23 A Fi (I} === o= +=mH
(D) = TEHEE $EEH (IV) g =maas =99

4= fou T fEEeT § ° wE T 1 =9 S0

Options:-
. (A)IV). (By-(I), (Cy-(IT), (Dy-(I1Ty

Option ID :- 3589,
(A D), (B)<(IT), (Cy-(IIT), (Dy-(ITV)

Option ID :- 3590,
. (AMID. (B)-(IV). (C)-(IID). (D)-(D) ,
Option ID :- 3591,

(A)-(IT), (B)-(IIL). (C)-(IV). (D)-(I)

Option ID :- 3592,
(AM(ID. (B)-(IV). (C)-(III). (D))

Question ID:- 894

Match List I with List IT:

ListI List 11
Boolks Authors
(A) Political Parties () C. Wright Mills
{(B) Ruling Class (I} Rohert Michels
(C) The Power Elite (I} Gaetano Mosgea

(D) The Mind and Society (TV) Vilfredo Pareto

Choose the correct answer from the options given helow :

Ti-1 % =y = g-10 foe i

A

-1 71T
(A) el 2T (D i, sz Hem
(B) =fer #=7H (I) 7112 AEFa
(C) =1 e TR (IIT) 21 5w
(D) = aEs w4 HEEd (IV) Tarss o
= fom T e B W w3 R 9 i

Options:-
(A)-(IT), (B)-(I). (C)-(IIL}. (I)-(IV)

Option ID :- 3573,
(A)AII). (B)-(IV). (C)-(III). (D)1}

’
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"Option ID :- 3574,
{A)-(I13. (B)-(III), (C)-(IV). (D-(I)

Option ID :- 3575,

1

Option ID :- 3576,
(AT, (B)-(II0). (Cy-(I). (D)-(ITV)

Question ID:- 912

Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as

Reaszon R.
Assertion (A): A student of Comparative politics should study the behaviours of voters.
Reasons (R) ; A student of comparvative politics has to deal with the entire political

systems.

In the light of the above statements. choose the most gppropriate answer from the options

given helow :

4 = Fu Fuow § - v sifaEe (Assertion (A)) % 9 § fahEg & o R % FAY (Reazons (R))

FETEH ;
AR (A) FEATEH TwHITE % ThREl 41 T =1 Saras e A FA =0
7 (R) : TEATE T F FE 6 e e T T e e O A

I FYA F AERE H, A= 50 G 5§ wEE I 3 6 =9 R

Options:-
Both (A) and (R) are correct and (R) 1s the correct explanation of (A)

Option ID :- 3645,
Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)

(A) = (R) 51 54 7, =94 (R), (A) 1 T8 = 96 2
Option ID :- 3646, o '
R E-Y 12 correct but (R) 1 not correct (A) 7 3, <t (R) w4 2
Option ID :- 3647,
(A) i= not correct but (R) is correct (A) 751 751 &, o4 (R) 951 7
)

Option ID :- 3648,

Both (A) and (R) are correct and (R) is the correct explanation of (A)

(A) 31 (R) =9 =81 £ 3117 (R), (A) 51 58] =9 2

Subject : 2_SH1_PARTB_S1

Question ID:- 920
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Read the passage and answer the questions :

The theme of the World Economic Forum's Annual Meeting 2019, held in Davos was
Globalization 4.0. Globalization 1.0 started in 18320 and ended at the starting of World War -1.
Globalization 2.0 hegan after World War-1II and ended around 1990. These two are called old
globalization. Old globalization was especially beneficial to todayv’s rich nations, The G7 saw
rapid growth of thelr exports. income, and industry compared to today’s poor nations during
old globalisation. This led to what Kenneth Pomeranz. a historian. calls the Great
Divergence, Globalization 3.0 was termed as new globalization.

This ‘new globalization’. or Globahzation 3.0, had dramatically different effects on world
income (GDP) shares, In just 20 years, the G7 share of world GDP plummeted to 50%, and 1ts
share of trade to 32%. This trend. which might be called the ‘Great Convergence’. iz surely the
dominant economic fact of the last 20 or 30 years,

What happened to the landscape of global manufacturing? The G7 nations lost share
gradually hetween 1970 and 1990, followed by an accelerated decline from 1990, To where did
manufacturing go? Just six developing nations-which we might call the TRamdly
Industrializing 6. or I-6 for short-accounted for almest all of 1t. The I-6 are China. Korea.
India, Poland, Indonesia and Thailand. It zamed almost 16 percentaze points of world
manufacturing in just 20 vears.

Globalization 4.0 1s driven by cutting edge new technology like Al Cloud Computing ete,
These technologies shiink distances. open up borders and minds and bring people all across
the glohe closer together. These technologies are changing the nature of work where no
phyvsical prezence of workers will be required. Such workers are termed as telemigrant —
persons who live in another developing country while working for a company located 1n a
developed country.

T T SAENET {9 9E T F aeE geF 2019, Fi 99 95 SeEE 4.0 ) dvdEr 1.0 79
1820 § WWY 237 U4 W9Y 599 I3 F WY § @O0 70 SvdEm 2.0 dm fAva 33 F aw e wan
AR T 1990 F TE-TH T 7307 T 51 WHA dvHE Feeid 2| T S G99 9 W a0
o1 TE o o feawE an| -7 3 TEE v & 2EE 90aH e a9 i 99 § e, 9@ vd s
o dia Jhg 79 I (55 F0 UF SAaEEn Fue U 56 [Eue S Fad 2| dvErE 3.0 H oA

Sy =R T A
=8 T I A AvEEEE 3.0 9 dfvas e (SE) aEEd W rEee 1 9 99F T S A

Ao

T 20 F9 1, Avg SEM 9 -7 i aweE 50% s sy i wEen 32% 7 92 T 3| 98w,
158 ‘Tawmer sty =e1 71 el 2, s @99 20 91 30 991 1 Sacaqel AaF aRaiEdar 2

v fafmir % afigeg =1 70 2an? -7 i i 9T 1970 307 1990 + <= Fawn wEEE A Al =,
o9 1900 ® HwE i wtyEiE ez @ @) EEE e 2t e se e T, TR e e
TS SiariET 2 6' 97 WE-6 F7 Hhd 2 F TEE 951 96 Hen| w6 # JF, Fif, uwe, e,
SSHITET 37 9IS A 7| AE HE A F 59 e @ e 16 Wi s e e 2

g w0 o £, dmed g wfers w ww @ E o e F wh S ow wde e E) A e
S T T S wEe  E e gt B i e e w6 S e gl e

The term 'Telemigrants’ 1s related to globalisation
FEmE=E UE e dvEEa O "eEiEd 2

Options:-

JLo

Option ID :- 3677,
2.0

hd )

Option ID :- 3678,
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3.0

’

Option ID :- 3679,
.40

Option ID :- 3680,
4.0

Question ID:- 917

Read the passage and answer the questions :

The theme of the World Economie Forum's Annual Meeting 2019, held in Davos was
Globalization 4.0. Globalization 1.0 started in 15320 and ended at the starting of World War -1.
Globalization 2.0 hegan after World War-1II and ended around 1990. These two arve called old
globalization. Old globalization was especially beneficial to today's rich nations, The GT7 saw
rapid growth of thelr exports. income, and industry compared to today’s poor nations during
old globalhisation. This led to what Kenneth Pomeranz. a historian. calls the Great
Divergence. Globalization 3.0 was termed as new globalization.

This new globalization’. or Globahzation 3.0, had dramatically different effects on world
income (GDP) shares. In just 20 years. the G7 share of world GDP plummeted to 50%, and its
share of trade to 32%. This trend. which might be called the ‘Great Convergence’. 1z surely the
dominant economic fact of the last 20 or 30 years,

What happened to the landscape of global manufacturing? The G7 nations lost share
gradually between 1970 and 1990. followed by an accelerated dechne from 1990, To where did
manufacturing go? Just six developing nations-which we might call the TRapidly
Industrializing 6. or I-G for short-accounted for almost all of it. The I-6 are China. Korea,
India, Poland. Indonesia and Thailand. It gamned almost 16 percentage points of world
manufacturing in just 20 vears.

Globalization 4.0 1z driven by cutting edze new technology hke Al Cloud Computing ete.
These technologies shrink distances, open up borders and minds and bring people all across
the globe closer together. These technologies are changing the nature of work where no
phyvsical presence of workers will be required. Such workers are termed as telemigrant —
persons who live in another developing country while working for a company located 1n a
developed country.

T T SAETET [ AT T 9 geF 2019, F 9w 95 SvEEE 4.0 ) dvdeEr 1.0 7
1820 T 7S 2571 U4 W99 HvE 35 F 90H § 5O 297 Avd 2.0 f5em a1 F aw ame wean
7 a9 1990 F FE-TE GEE BT 4 51 0= A9 Feeid 2| WEH dvEe 99 97 9 aqee
g1 gl % T TEaEE 41| -7 | T v & 2EE S9aE e T F e § e, SJE ud s
T E ghg 5 I AR T UF SOREET FET G 56 GO ATET FEd £l AvEe 3.0 F A

ST R T A1
0 T S 4 A 3.0 7 A 9F (SE) aEEd W aEee 1 9 99F 79 S 2

Ao

T 20 F9 1, &g SEM 9 -7 i aner 50% s sy i mEen 32% 7 92 T 3| 9 W,
T8 ‘Taener afgam =1 51 @61 2, FEnE @99 20 = 30 F91 H1 SReAuu HANAE ardiahal 2

e fafaion % afrgr 1 7 a0 7 -7 T 1070 s 1000 3 o s A A
T4 1990 | AT AtqEis TrEe 76 w5 GEEm w9 5 9 o AeeeiE o, 5w e
THF TR B 60 A SE-6 F= T # W TR A A HN| WE-6 # W, Ffen, 9wE, wws,
SEHTeET 37 UEHTs wiiee 7| 9 o 99 § 34 e At w6 e 16 wiaem s o F i 2

s w1 T £, wmst wn wferen e @ # s G % i s w3 3 s
AT g W o T At A i it A T A TR e e
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Given below are two statements :

Statement I :  Globalization 2.0 began after World War-I and ended around 1990
Statement IT . Globahzation 2.0 saw the establishment of UN-IMF and World bank

In the light of the above statements. choose the correct answer from the options given helow :

= = e fom o #
Fom . SUEEET 2.0 WOE 3999 35 F A AR A S7 1990 F WU T 6
Fo 11 SvdrEm 2.0 JU9-307E U9 UF 37 @ s 6 A 5 = a9

IO FUA F AT °, A 150 0 [T 8 1 HA 39 S 99 i

Options:-
. Both Statement I and Statement IT are true

Option ID :- 3665, _ L -
Both Statement I and Statement IT ave false 97 1 #1 II =M1 70 =

Option ID :- 3666,

Statement I is true but Statement 11 1= false
Option ID :- 3667,
, Statement I is false but Statement ITis true  #97 L7eA 2, =i F9 [ #A #
Option ID :- 3668,

Both Statement I and Statement TT are true 727 I ¥ = & =

1

Fi I TF 2, =T 729 O =

]

’

Question ID:- 918

Read the passage and answer the guestions :

The theme of the World Economie Forum's Annual Meeting 2019, held in Davos was
Globalization 4.0. Globalization 1.0 started in 18320 and ended at the starting of World War -1.
Globalization 2.0 hegan after World War-1I and ended around 1990. These two are called old
globalization. OId globalization was especially beneficial to todayv’s rich nations, The G7 saw
rapid growth of thelr exports. income, and industry compared to today’s poor nations during
old globalisation. This led to what Kenneth Pomeranz. a historian. calls the Great
Divergence, Globalization 3.0 was termed as new globalization.

This ‘new globalization’. or Globahzation 3.0, had dramatically different effects on world
income (GDP) shares, In just 20 years, the G7 share of world GDP plummeted to 50%, and 1ts
share of trade to 32%. This trend. which might be called the ‘Great Convergence'. iz surely the
dominant econemic fact of the last 20 or 30 years,

What happened to the landscape of global manufacturing? The G7 nations lost share
gradually between 1970 and 1990, followed by an accelerated dechine from 1990, To where did
manufacturing go? Just six developing nations-which we might call the TRapmdly
Industrializing 6. or I-6 for short-accounted for almost all of 1t. The I-6 are China. Korea.
India, Poland, Indonesia and Thailand. It gamed almost 16 percentagze points of world
manufacturing in just 20 vears.

Globalization 4.0 1s driven by cutting edge new technology like Al Cloud Computing ete,
These technologies shiink distances. open up borders and minds and bring people all across
the glohe closer together. These technologies are changing the nature of work where no
phyvsical presence of workers will be required. Such workers are termed as telemigrant —
persons who live in another developing country while working for a company located 1n a
developed country.
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TEE T SAENAT [ AF FAE F aeE geF 2019, F 99 Ieg SvEE 4.0 ) dvdeEr 1.0 79
1820 H WY 237 U4 ey fava 2g & AWy § @9 297 Fvdenen 2.0 oA fava a3 * ew e 2an
S a9 1990 T AE-TF TEH £37| 9 51 W= A9 FEer 2 T Svdim Ge §@ w 26Ee
1 T % T TR 41| -7 | W A7 F S0 90aE e g e | A, S v I
A di7 gfg == 1 {7k = o sfoemmn F99 9Ee 30 faee aemm wwd 2| dvdE 3.0 F A4
HYE TR R AT 4T

=8 A AvEE A AvEEE 3.0 7 3w 9 (SE) aEEd w o naEeei 1 9 99F T s A
=F 20 79 3, fEva SEd 3 Sfi-7 1 A 50% S5 = 6 wEen 32% 9% 92 T 3| 98 .
Tom “Taemer sifvam’ e 1 T 2, FEcs 999 20 30 30 F97 1 Beeg ANAE ArarEE 2

Afva fafmio % ufrgr =1 @ 2307 i-7 mgi 1 =¥ 1070 3R 1990 F = FEw AEEE H oA
9 1990 H AT AtqEiE frEe i @) @EE w8 2T 9 or AeeeE o, e w W
TF AT B 6° A -6 F= T = F| T A5 A HA| -6 | FA, FoAW, A, TS,
SEHTIMET 31T UTEETS WIEE | O S 991 § =0 90T [aEEien 6 S 16 WO S5 O 5 fEEr 2

ATHFI 4.0 TS, IS T 0 A A T ST gE meen | 3 e g w6
B il i e 1 B0 e e | [t =1 O = e el e B s e B B e o
=t el T 2, A [ T gn B foud Fel § i e & e S8 e <9 ° e 2|

The annual meeting 2019 of World Economic Forum was held in which of the following
countries

faza i s s Fi TriiF S5 2010 Feieng oo 8 7 Fa it 5 4

Options:-
_Usa FEAT,
Option ID :- 3669:
. Britain 1579 ,
Option ID :- 3670,

Switzerland
Option ID :- 3671,

Australia AR ,
Option ID :- 3672,

Switzerland fears

Question ID:- 916
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i Read the passage and answer the questions :

The theme of the World Economic Forum's Annual Meeting 2019, held in Davos was
Globalization 4.0. Globalization 1.0 started in 18320 and ended at the starting of World War -1.
Globalization 2.0 hegan after World War-1II and ended around 1990. These two are called old
globalization. Old globalization was especially beneficial to todayv’s rich nations, The G7 saw
rapid growth of their exports. income, and industry compared to today’s poor nations during
old globalisation. This led to what Kenneth Pomeranz. a historian. calls the Great
Divergence, Globalization 3.0 was termed as new globalization.

This ‘new globalization’. or Globahzation 3.0, had dramatically different effects on world
income (GDP) shares, In just 20 years, the G7 share of world GDP plummeted to 50%, and 1ts
share of trade to 32%. This trend. which might be called the ‘Great Convergence’. iz surely the
dominant economic fact of the last 20 or 30 years,

What happened to the landscape of global manufacturing? The G7 nations lost share
gradually hetween 1970 and 1990, followed by an accelerated decline from 1990, To where did
manufacturing go? Just six developing nations-which we might call the TRamdly
Industrializing 6. or I-6 for short-accounted for almest all of 1t. The I-6 are China. Korea.
India, Poland, Indonesia and Thailand. It zamed almost 16 percentaze points of world
manufacturing in just 20 vears.

Globalization 4.0 1s driven by cutting edge new technology like Al Cloud Computing ete,
These technologies shiink distances. open up borders and minds and bring people all across
the glohe closer together. These technologies are changing the nature of work where no
phyvsical prezence of workers will be required. Such workers are termed as telemigrant —
persons who live in another developing country while working for a company located 1n a
developed country.

T T SAENET {9 9E T F aeE geF 2019, Fi 99 95 SeEE 4.0 ) dvdEr 1.0 79
1820 ¥ ¥WH £37 vA U9H FAvE 35 F 909§ THW 771 Fedem 2.0 oA fva a3 am oy w2
W F9 1990 F AT-TH TAT 23| T T THH AT FEelid 2| TEE S9EE 99§17 W a0eE
o1 TE o o feawE an| -7 3 TEE v & 2EE 90aH e a9 i 99 § e, 9@ vd s
o di7 afz =3 1 famk = o sfoemen F99 aEes 38 fawe aomm wed 2| dvdEen 3.0 F A4
TR ST T A7

=8 T I A AvEEEE 3.0 9 dfvas e (SE) aEEd W rEee 1 9 99F T S A
T 20 F9 1, Avg SEM 9 -7 i aweE 50% s sy i wEen 32% 7 92 T 3| 98w,
158 ‘Tawmer sty =e1 71 el 2, s @99 20 91 30 991 1 Sacaqel AaF aRaiEdar 2

Sfva fatamion % ufgea 1 w0 2an? -7 7l 1 = 1970 @i 1000 % = FEw wEEE oA =,
o9 1900 ® HwE i wtyEiE ez @ @) EEE e 2t e se e T, TR e e
THF ST B 6 A WE-6 FE TEA 7 F TH A1 GF HeN| WE-6 § FF, FE, guE, wevs,
e 37 9EHTE e 7| 9 S 99 5 354 e A w6 e 16 wiaee w9 ae F i 2
A 4.0 U, FES Flen A0 A€ A 7 ST gm deien 21 3w g
B i e T e 1 M s Tl 1 1 o Bt A= L el e e B B e B e 1 i
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The term Great Divergence 1s related to
(A) Globalization 1.0
(B) Globalization 2.0
(O Globalization 3.0
(D) Globalization 4.0

Choose the correct answer from the options given below :
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TETe ST 9E e Tt
(A)  HTEEET L0

(B)  AvEF 2.0

(C)  Fvdrr 3.0

(D) Sz 4.0

Hi= fou 0 FEEeT § 9 HE I # =54 A

Options:-

,COnly % C

Option ID :- 3661,

, A BOnly w== AsmB }

Option ID :- 3662,

. D Only Fa= D,

Option ID :- 3663,

, B.COnly

Option ID :- 3664,
B.COnly #Fa=s B # C

Question ID:- 919

Read the passage and answer the questions :

The theme of the World Economic Forum's Annual Meeting 2019, held in Davos was
Globalization 4.0. Globalization 1.0 started in 1820 and ended at the starting of World War -1.
Globalization 2.0 hegan after World War-1II and ended around 1990. Theze two are called old
globalization. Old globalization was especially beneficial to today's rich nations, The GT7 saw
rapid growth of thelr exports. income, and industry compared to today’s poor nations during
old globalhisation. This led to what Kenneth Pomeranz. a historian. calls the Great
Divergence. Globalization 3.0 was termed as new globalization.

This new globalization’. or Globahzation 3.0. had dramatically different effects on world
income (GDP) shares. In just 20 years. the G7 share of world GDP plummeted to 50%, and its
share of trade to 32%. This trend. which might be called the ‘Great Convergence’. 1= surely the
dominant economic fact of the last 20 or 30 years,

What happened to the landscape of global manufacturing? The G7 nations lost share
gradually between 1970 and 1990. followed by an accelerated dechine from 1990, To where did
manufacturing go? Just six developing nations-which we might call the TRapidly
Industrializing 6. or I-G for short-accounted for almost all of it. The I-6 are China. Korea,
India, Poland. Indonesia and Thailand. It gained almost 16 percentage points of world
manufacturing in just 20 vears.

Globalization 4.0 1z driven by cutting edze new technology hke Al Cloud Computing ete.
These technolozies shrink distances, open up borders and minds and bring people all across
the globe closer together. These technologies are changing the nature of work where no
phyvsieal presence of workers will be required. Such workers are termed as telemigrant —
persons who live in another developing country while working for a company located 1n a
developed country.
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Afeas fafmior F wiges 771 %0 23077 -7 72 1 99 1970 3 1990 F W= FE AEEH B A wE,
a9 1990 B I i SaEEE =z 3 w1 AEEm S gt e 2w Feeeim o, 5 o e
T SiETET 7 60 A1 FE-6 F= TEA 2 F IAE FS1 9 | wE-6 ° FM, FEm, uwa, wews,
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Mateh List T with List I1 :

List I List IT
(A) I6 () Tialy
(B) Globalhization 3.0 (IT)y Globalization 4.0
(Cy G7 (I} China
{D) Emergence of Remote working (IV) New globahzation

Choose the correct anzwer from the options given helow :
Hei- 1% \rg =1 gei- I1 {oerm i ;

g=i-1 =111
(A) #E6 M szl

(B) dvdram 3.0 (II) v 4.0
(C) =7 (I ==
(D) Tz S 1 EEEE EE (IV) =9 Fvarr

1 150 T e B H A 3 #1 =9 i

Options:-
, (A)-ID. (Bi-(ID). (C)-(D). (D)-(IV)
Option ID :- 3673,
. (AHD, (BIV). (C)HIIL). (D)-(IL)
Option ID :- 3674,

(A)-(IIT), (B)-(IV). (C)(I), {DJ—I_H}'
Option ID :- 3675,
. (A)-(I). (B)-(I). (C)-(IV). (D)-(IIT)

Option ID :- 3676,
(A)(IID), (B)-(IV). {C)-(D, (D)-ID

Subject : 2_SH1_PARTC_S1
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Question ID:- 925

Read the following passage and answer gquestion :

Good governance has S major characteristics. It 1s participatory. consensus oriented.
accountable. fransparent. responsive. effective and efficient. equitable and inclusive and
follows the rule of law, It assures that corruption is minimized. the views of minorities are
taken into account and that the voices of the most vulnerable in society are heard in decizion-
making. It is aleo responsive to the present and future needs of society.

Participation by both men and women 1s a key cornerstone of good governance. Participation
could be either direct or through legitimate intermediate institutions or representatives, It 1=
important te point cut that representative democracy does not necessarilv mean that the
concerns of the most vulnerable in society would be taken into consideration in decision
making. Participation needs to be informed and organized. This means freedom of association
and expression on the one hand and an organized civil society on the other hand.

Good governance requires fair legal frameworks that are enforced impartially, It also requires
full protection of human rights, particularly those of minorties, Impartial enforcement of laws
requires an independent judiciary and an impartial and incorruprtible police force.

Transparency means that decizsions taken and thewr enforcement are done in a manner that
follows rules and regulations, It also means that information 1z freely available and directly
acceszible to those who will be affected by such decisions and thenr enforcement. It also means
that enough information is provided and that it is provided in easily understandable forms
and media.

Good governance reguires that institutions and processes try to serve all stakeholders within
a reasonable time-frame. There are several actors and as many view points 1In a given sociefy.
Good governance requires mediation of the different inferests in =ociety to reach a broad
consenses 1n society on what is in the best interest of the whole community and how this can
be achieved. It also requires a broad and long-term perspective on what 15 needed for
sustainable human development and how to achieve the goals of such development. This can
only result from and understanding of the historical, cultural and social contexts of a given
soclety or community,

A society’s well being depends on ensuring that all its members feel that they have a stake in
it and do not feel excluded from the mainstream of society. This requires all zroups.
particularly the most vulnerables. have opportunities to improve or maintain their well being,

Good governance means that processes and institutions produce results that meet the needs
of socletv while making the best use of resources at their disposal. The concept of efficiency in
the context of good governance alzo covers the sustainable use of natural rescurces and the
protection of the environment.
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(Given below are two statements : One 1s labelled as Assertion A and the other 1s labelled as
Reason R.
Assertion (A) : Participation needs to be informed and organized

Reasoning (R) :  Representative demoaeracy does not mean that the most vulnerable in

the socilety will be part of decision making,

In the light of the above statements, choose the correct answer from the options given helow ;
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Options:-

Both (A) and (R) are true and (R) i= the correct explanation of (A)

(A} 37 (R) =F1 T3 & 17 (R). (A) 7 o1 =971 7

Option ID :- 3697,
Both (A) and (R) are true but (R) 1z NOT the correct explanation of (A)

(A) 3T (R) =11 @7 2. =067 (R). (A) i1 T8 =am= 951 =

Option ID :- 3698,

. [A) iz true but (R) is false (A) 7T, (R) o

Option ID :- 3699,
(A) 1s false but (R) is true

Option ID :- 3700,

(A)1s false but (R) 1strue o) 0 2 2o (R) o1 2

Question ID:- 924
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Read the following passage and answer guestion :

Good governance has S major characteristics. It 13 participatory. comsensus oriented.
accountable. fransparent. responsive. effective and efficient. equitable and inclusive and
follows the rule of law, It assures that corruption iz minimized. the views of minorities are
taken into account and that the voices of the most vulnerable in society are heard in decision-

making. It 1s also responsive to the present and future needs of society.

Participation by both men and women 1s a key cornerstone of good governance. Participation
could be either direct or through legitimate intermediate instatutions or representatives. It 1s
mmportant to point out that representative democracy does not necessarly mean that the
concerns of the most vulnerable in society would be taken into consideration In decision
making. Participation needs to be informed and organized. This means freedom of association
and expression on the one hand and an organized civil society on the other hand.

Good governance requirves fair legal frameworks that are enforced impartially, It also requires
full protection of human rights, particularly those of minorties, Impartial enforcement of laws
requires an independent judiciary and an impartial and incorruptible police force.

Transparency means that decisions taken and theiwr enforcement are done in a manner that
follows rules and regulations, It also means that information 1= fieely available and directly
accesszible to those who will be affected by such decisions and their enforcement. It also means
that enough information 1 provided and that it 1s provided in easily understandable forms
and media.

Good governance regquires that institutions and processes try to serve all stakeholders within
a reasonable time-frame, There are several actors and as manyv view points In a given soclety.
Good governance requirves mediation of the different interests in zociety to veach a broad
consenses in society on what is in the best interest of the whole community and how this can
be achieved. It also requires a broad and long-term perspective on what 1s needed for
sustainable human development and how to achieve the goals of such development. This can
only result from and understanding of the historical, cultural and social contexts of a given
goclety or community,

A society’s well being depends on ensuring that all its members feel that they have a stake in
it and do not feel excluded from the mainstream of society. This requires all gzroups.

particularly the most vulnerables. have opportunities to improve or maintain their well being.

Good governance means that processes and institutions produce results that meet the needs
of society while making the best use of resources at their disposal. The concept of efficiency in
the context of good governance also covers the sustainable use of natural rescurces and the
protection of the environment.
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Transparency can't be explained as-
UEEET S SERe B9 ° R A Al 2

Options:-
. Restricted access to information AT = T et (i) m,
Option ID :- 3693,

~ g . 2 i~
. Decision as per rules and regulations = iR e BHRC

Option ID :- 3694, '
. Incarruptable police force Eeeiis ghq e )

Option ID :- 3695, _ _ _

. Mediation of different interest in society 7 % fati {1 e ,

Option ID :- 3696,
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Question ID:- 923

Read the following passage and answer guestion :

Good governance has 8 major characteristics. It 1s participatory. consensus oriented.
accountable. fransparent. responsive. effective and efficient. equitable and inclusive and
follows the rule of law, It aszures that corruption 13 minimized. the views of minorities are
taken into account and that the voices of the most vulnerable in society are heard in decizion-

making. It is also responsive to the present and future needs of society.

Participation by both men and women 1s a key cornerstone of good governance. Participation
could he either direct or through legitimate intermediate institutions or representatives. It is
important to point out that representative democracy does not necessamly mean that the
concerns of the most vulnerable in society would be taken into consideration In decision
malking. Participation needs to be informed and organized. This means freedom of association
and expression on the one hand and an organized civil society on the other hand.

Good governance requirves fanr legal frameworks that are enforced impartially, It also reguires
full protection of human rights, particularly those of minorties, Impartial enforcement of laws
requires an independent judiciary and an impartial and incorruptible police force.

Transparency means that decisions taken and thewr enforcement are done in a manner that
follows rulez and regulations, It also means that information 1z freely available and divectly
acceszible to those who will be affected by such decisions and thewr enforcement. It also means
that enough information 1s provided and that it 15 provided in easily understandable forms
and media.

Good governance requires that institutions and processes try to serve all stakeholders within
a reasonable time-frame, There are =zeveral actors and as many view points In a given soclety.
Good governance requires mediation of the different interests in =ociety to rveach a broad
consenses in society on what 1s in the best interest of the whole comumunity and how this can
be achieved. It also requires a broad and long-term perspective on what 1s needed for
sustainable human development and how to achieve the goals of such development: This can
only result from and understanding of the historical, cultural and social contexts of a given

soclety or community.

A society’s well being depends on ensuring that all its members feel that they have a stake in
it and do not feel excluded from the mainstream of society. This requires all groups.

particularly the most vulnerables. have opportunities to improve or maintain their well being.

Good governance means that processes and institutions produce results that meet the needs
of society while making the best use of resources at their disposal. The concept of efficiency in
the context of good governance also covers the sustainable use of natural resources and the
protection of the environment.
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Which among the following is not related to the concept of efficiency in the context of good
governance?

TEATTRA 5 @ 9 QA AT B Tl B H JEiad 6 2

Options:-
. Protection of environment T HE
Option ID :- 3689,
. Sustainable use of natural resources Wﬁr_r THTEAT = SO0 S0 ]
Option ID :- 3690,
. Exclusions from the mainstream of the society HHIA 1 AT A AEA
Option ID :- 3691,

Understanding the contexts of society, @99 % dcd 1 @99 ]
Option ID :- 3692,
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Question ID:- 922

Read the following passage and answer guestion :

Good governance has S major characteristics. It 1s participatory. consensus oriented.
accountable. fransparent. responsive. effective and efficient. equitable and inclusive and
follows the rule of law. It assures that eorruption is minimized. the views of minorities are
taken into account and that the voices of the most vulnerable in society are heard in decizion-
making. It is aleo responsive to the present and future needs of society.

Participation by both men and women is a key cornerstone of good governance. Participation
could he either direct or through legitimate intermediate institutions or representatives. It 1=
important te point cut that representative democracy does not necessarilv mean that the
concerns of the most vulnerable in society would be taken into consideration in decision
making. Participation needs to be informed and organized. This means freedom of association
and expression on the one hand and an arganized civil society on the other hand.

Good governance requives fair legal frameworks that are enforced impartially, It also requires
full protection of human rights, particularly those of minorties. Impartial enforcement of laws
requires an independent judiciary and an impartial and incorruptible police foree.

Transparency means that decisions taken and theiwr enforcement are done in a manner that
follows rules and regulations, It also means that information is freely available and directly
acceszible to those who will be affected by such decisions and thenr enforcement. It alzo means
that enough information is provided and that it i1s provided in easily understandable forms
and media.

Good governance reqguires that institutions and processes try to serve all stakeholders within
a reasonable time-frame. There are several actors and as many view points In a given soclefy.
Good governance requires mediation of the different interests in =ociety to reach a broad
consenses in society on what is in the best interest of the whole community and how this can
be achieved. It also requires a broad and long-term perspective on what 1z needed for
sustainable human development and how to achieve the goals of such development. This can
only result from and understanding of the historical, cultural and social contexts of a given
soclety or community,

A society’s well being depends on ensuring that all its members feel that they have a stake in
it and do not feel excluded from the mainstream of society. This requires all groups.
particularly the most vulnerables. have opportunities to improve or maintain their well being,

Good governance means that processes and institutions produce results that meet the needs
of socletv while making the best use of resources at their disposal. The concept of efficiency in
the context of good governance alzo covers the sustainable use of natural resources and the
protection of the environment.
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Identify the major characteristes of Good Governance.

(A) Inclusiveness
(B) Transparent and responsive
(C) Elite — Centric

(D) Coneentrates on present needs of the society only

Choose the correct answer from the options given below :
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(A) T
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(C)  wfg=agE
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Options:-
.AA B. C Only
Option ID :- 3685,
. B.C Only #as B, C
Option ID :- 3686,
. ABDOnly ™7ABD
Option ID :- 3687,
.ABOnly #9AB
Option ID :- 3688,
A.B.C Only 91 A. B, C.‘,

Question ID:- 921




www.prepp.in

Read the following passage and answer guestion :

Good governance has S major characteristics. It 13 participatory. comsensus oriented.
accountable. fransparent. responsive. effective and efficient. equitable and inclusive and
follows the rule of law, It assures that corruption iz minimized. the views of minorities are
taken into account and that the voices of the most vulnerable in society are heard in decision-

making. It 1s also responsive to the present and future needs of society.

Participation by both men and women 1s a key cornerstone of good governance. Participation
could be either direct or through legitimate intermediate instatutions or representatives. It 1s
mmportant to point out that representative democracy does not necessarly mean that the
concerns of the most vulnerable in society would be taken into consideration In decision
making. Participation needs to be informed and organized. This means freedom of association
and expression on the one hand and an organized civil society on the other hand.

Good governance requirves fair legal frameworks that are enforced impartially, It also requires
full protection of human rights, particularly those of minorties, Impartial enforcement of laws
requires an independent judiciary and an impartial and incorruptible police force.

Transparency means that decisions taken and theiwr enforcement are done in a manner that
follows rules and regulations, It also means that information 1= fieely available and directly
accesszible to those who will be affected by such decisions and their enforcement. It also means
that enough information 1 provided and that it 1s provided in easily understandable forms
and media.

Good governance regquires that institutions and processes try to serve all stakeholders within
a reasonable time-frame, There are several actors and as manyv view points In a given soclety.
Good governance requirves mediation of the different interests in zociety to veach a broad
consenses in society on what is in the best interest of the whole community and how this can
be achieved. It also requires a broad and long-term perspective on what 1s needed for
sustainable human development and how to achieve the goals of such development. This can
only result from and understanding of the historical, cultural and social contexts of a given
goclety or community,

A society’s well being depends on ensuring that all its members feel that they have a stake in
it and do not feel excluded from the mainstream of society. This requires all gzroups.

particularly the most vulnerables. have opportunities to improve or maintain their well being.

Good governance means that processes and institutions produce results that meet the needs
of society while making the best use of resources at their disposal. The concept of efficiency in
the context of good governance also covers the sustainable use of natural rescurces and the
protection of the environment.
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Which among the following charactersistics 1s/are related to Good Governance
{A) Fair legal frameworks

{B) Impartiality

(C) Protection of Minorties

(D) Centralised judiciary system.

Choose the correct answer from the options given halow :
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Options:-
AC.DOnly F3# A C.D
Option ID :- 3681,
B.C.DOnly #=¢ B.C.D

Option ID :- 3682,
A B. C Only
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Option ID :- 3683,
ABCD ABCD

Option ID :- 3684,

A B COnly %95 A.B.C




